AHC Review Officer RO 11 DEC Sh2

Topic:- RO_GA_11DEC_SH2_S1_A

1)
Select the option that is related to the third number in the same way as the second number is
related to the first number.

M 1202 o 2l

(1) 384 2) 456 (3) 460 4) 462

et 1 & 7% Fore T S TR e & S YR Se 9 9 oe gen el wen & wet
B

16 : 272 ¢ : 21

(1) 384 2) 456 (3) 460 4) 462

[Question ID = 222][Question Description = 101_R0O6_11Dec_Set1_Shift2_Q1]
1. 1 [Option ID = 885]
2. 2 [Option ID = 886]

3. 3 [Option ID = 887]
4. 4 [Option ID = 888]

2)
Select the option that is related to the third term in the same way as the second term is
related to the first term.

JUST : ITRS : : HAND :
(1) I1ZMC 2) 1zOC (3) IBOC 4) GZMC
= § 9 o fasren i s o ug & St yoR efyd ® S it 380 98 vee U § Hatyd 7|
JUST : ITRS : : HAND :
(1) 1ZMC 2) 1ZOC (3) IBOC 4) GZMC
[Question ID = 223][Question Description = 102_R06_11Dec_Set1_Shift2_Q2]
1. 1 [Option ID = 889]
2. 2 [Option ID = 890]

3. 3 [Option ID = 891]
4. 4 [Option ID = 892]

3)
Select the number pair in which the two numbers are related in the same say as are the two
numbers of the following number pair.

7 : 54

(1) 8:69 (2) 8:68 3) 8:67 (4) 8:64

e T # g el € e 36 v @ T § S R frefated sen & gem
7l

7 : 54

(1) 8:69 2) 8:68 (3) 8:67 4) 8:64

[Question ID = 224][Question Description = 103_R0O6_11Dec_Set1_Shift2_Q3]



1 [Option ID = 893]
2 [Option ID = 894]
3 [Option ID = 895]
4 [Option ID = 896]

AN wnN =

4) Three of the fo]lowing terms are alike in a certain way. Find the odd one out.

(1) DE (2) HI (3) NO 4) UV
Frefafed 9 9 99 98 fordl 8 t 7R & 1590 9§ fa= w8 g
(1) DE (2) HI 3) NO 4) UV

[Question ID = 225][Question Description = 104_R0O6_11Dec_Set1_Shift2_Q4]
1. 1 [Option ID = 897]
2. 2 [Option ID = 898]
3. 3 [Option ID = 899]
4. 4 [Option ID = 900]

5)
Three of the following four numbers are alike in a certain way and one is different. Find the
odd one out.

(1) 344 2) 730 (3) 1003 4) 1729
e 9R gemnsi | 9 9 oi fdl e 9t 99E © iR us wen fu= 71 3 9 e den g
(1) 344 2) 730 (3) 1003 (4) 1729

[Question ID = 226][Question Description = 105_R06_11Dec_Set1_Shift2_Q5]
1. 1 [Option ID = 901]
2. 2 [Option ID = 902]
3. 3 [Option ID = 903]
4. 4 [Option ID = 904]

6)
In a code language, RICE is written as MNX]. How will WHEY be written in the same

language ?

(1) BCJT (2) BMZD (3) RMJD (4) RMZD
T %2 9 H RICE 1 MNX] o s ® | 55t o § WHEY & fore 73 9 foran smem |
(1) BCJT (2) BMZD (3) RMJD (4) RMZD

[Question ID = 227][Question Description = 106_R0O6_11Dec_Set1_Shift2_Qé6]
1. 1 [Option ID = 905]
2. 2 [Option ID = 906]
3. 3 [Option ID = 907]
4. 4 [Option ID = 908]

) If DIG=40 and LEAF =48, then TRUNK = .
(1) 166 2) 168 (3) 164 4) 162

Ifg DIG=40 3T LEAF=48, @ TRUNK = 2
(1) 166 2) 168 (3) 164 4) 162

[Question ID = 228][Question Description = 107_R06_11Dec_Set1_Shift2_Q7]
1. 1 [Option ID = 909]
2. 2 [Option ID = 910]
3. 3 [Option ID = 911]
4. 4 [Option ID = 912]



8) Which number will replace the question mark (?) in the following series ?
16, 30, 62, 122, 246, _ 2
(1) 340 (2) 490 (3) 380 (4) 480
frefafed saen 3 & 1 sl geafes =& o 2
16, 30, 62, 122, 246, _ 2 .
(1) 340 (2) 490 (3) 380 (4) 480

[Question ID = 229][Question Description = 108_R0O6_11Dec_Set1_Shift2_Q8]
1. 1 [Option ID = 913]
2. 2 [Option ID = 914]
3. 3 [Option ID = 915]
4. 4 [Option ID = 916]

9
éelect the letter cluster that will replace the question mark (?) in the following series.
EFY, FID, GLI, _? ,IRS
(1) HNM (2) HON (3) HOM (4) HOP
o8 &R g gy, Sl frefafaa gaen 9 v fomg o1 2 &
EBY, BID), GLL.. ¢ . IRS
(1) HNM (2) HON (3) HOM (4) HOP
[Question ID = 230][Question Description = 109_RO6_11Dec_Set1_Shift2_Q9]
1. 1 [Option ID = 917]
2. 2 [Option ID = 918]

3. 3 [Option ID = 919]
4. 4 [Option ID = 920]

10)
Study the pattern and replace the question mark (?) from the given alternatives.
8 5 |169
10 | ? [ 196
7 8 |225
1 7 (2) © () > (4) 4
yfaeq e =1 favew Fifse , g 5 faskey 9fe, s wea foe (2) ot ufoeenfud ot e 22
8 5 | 169
10 | ? [ 196
7 8 | 225
{1y 7 (2) 6 (3) B 4) 4

[Question ID = 231][Question Description = 110_R0O6_11Dec_Set1_Shift2_Q10]
1. 1 [Option ID = 921]
2. 2 [Option ID = 922]
3. 3 [Option ID = 923]
4. 4 [Option ID = 924]

11)



Study the pattern carefully and select the number that can replace the question mark (?).

Y Y Y

108 240
(1) 396 (2) 394 (3) 392 4) 390
ﬁﬁﬁﬁﬁWﬂ%ﬁﬁﬂﬁﬁﬁ%ﬁﬁﬂﬁﬂﬁwﬁﬁ(W@WWW

Y Y Y

108 240
(1) 396 (2) 394 (3) 392 (4) 390
[Question ID = 232][Question Description = 111_R06_11Dec_Set1_Shift2_Q11]
1. 1 [Option ID = 925]
2. 2 [Option ID = 926]

3. 3 [Option ID = 927]
4. 4 [Option ID = 928]

12 A+B means A is daughter of B
A —B means A is brother of B
A X B means A is mother of B

A+ B means A is son of B
FU+CXxQ—-P+R+5-T then how is S related to U ?
(1) father (2) grandfather (3) uncle (4)  brother

A+B &1 Haas & A 91 § B &t

A—B S Hdcld & A 9§ & B I

AXB F IO § A AT T B &

A+B I HIE § A S92 & B &

U+CxQ-P+R+S-THS forg @ 4 U & deifiq &2

(1)  foa (2) = (3) == (4) wE
[Question ID = 233][Question Description = 112_R06_11Dec_Set1_Shift2_Q12]
e

3. 3 [Option ID = 931]
4. 4 [Option ID = 932]

13)



In the f(}]lowing diagram, the triangle represents businessmen, the circle represents rich and
the rectangle represents city dwellers.

The numbers in different segments show the number of persons.

8

]\

3

How many rich city dwellers are not businessmen ?

(1) 17 (2) 18 (3) 20 (4) 15

=1 a1 ¥ Forepon gwifen & et 1, 9 g9l € 3THR 1 3R S7re <uitar ® ved famdt w1 fiae
W H e, Al I HeA &1 2 ¢ | foha SR vl et e 78 €2

BN

iy, 17 2) 18 (3) 20 4) 15
[Question ID = 234][Question Description = 113_R06_11Dec_Set1_Shift2_Q13]
1. 1 [Option ID = 933]
2. 2 [Option ID = 934]

3. 3 [Option ID = 935]
4. 4 [Option ID = 936]

%) The given Venn diagram represents which of the following relationships.

(1) Carpenters, Doctors, Men (2) Doctors, Mothers, Women
(3) Fathers, Sons, Engineers (4) Girls, Children, Human Beings

Sy & s Trefafed & 3 frget <o €2

(1) =, fafeas, s (2) Tafees, = ofva
(3) Y, s, Sl (4) TISHI, &=d, HTA
[Question ID = 235][Question Description = 114_R0O6_11Dec_Set1_Shift2_Q14]
1. 1 [Option ID = 937]

2. 2 [Option ID = 938]
3. 3 [Option ID = 939]
4. 4 [Option ID = 940]



15)
Three different positions of the same dice are shown below. Which number is on the face
opposite the face showing 6 ?

3 4 1
5 |2 3 |6 5 |4

(1) 5 (2) 4 3) 2 (4) 1
T & 9 R i STer-ster feafaal S gulg 7 € 1 6 femm 9 weres % fagda werss Wi |
T E ?

3 1 1
5 |2 3 |0 5 |4

1) 5 (2) 4 3) 2 4) 1

[Question ID = 236][Question Description = 115_R0O6_11Dec_Set1_Shift2_Q15]
1. 1 [Option ID = 941]
2. 2 [Option ID = 942]
3. 3 [Option ID = 943]
4. 4 [Option ID = 944]

16)
Four friends are playing carrom and sitting on the four sides of the board. B is on the right of
C, D is to the left of A. Who is sitting to the left of C ?

(1) Data is inadequate (2) D
3 B (4) A
TR FH A R R AR AE F AR TR IS B,CHF Al IR AN D, AF TR 31 A C
&% A 3 A A3 T ?
(1) sifwe afe 7@ F) (2) D
3) B (4) A
[Question ID = 237][Question Description = 116_R06_11Dec_Set1_Shift2_Q16]
1. 1 [Option ID = 945]
2. 2 [Option ID = 946]

3. 3 [Option ID = 947]
4. 4 [Option ID = 948]

17)
While coming home from school at 5 pm, Ketan’s shadow was falling to his left. In which
direction was he walking ?

(1) North (2) South (3) East (4)  West

Thel | B 31 K Y o1 5 &S, KA i WSTE 9! 918 % IS @l ot | haA fore fewn § =a1 @1
o ?

(1) W 2) = 3) (4) Tfe=m

[Question ID = 238][Question Description = 117_R0O6_11Dec_Set1_Shift2_Q17]
1. 1 [Option ID = 949]




2. 2 [Option ID = 950]
3. 3 [Option ID = 951]
4. 4 [Option ID = 952]

18
f’-"z cube coloured blue on all faces is cut into 27 small cubes of equal sizes. How many cubes
are painted blue on one face only ?

(1) 10 2) 8 (3) 4 4) 6

Ueh = S |eft T W et TR A 27 B2 B T F Hwe w0 S fom ok @ s v o A
fepem = TR 20T ST et o T A T % &2

(1) 10 2) 8 (3) 4 (4) 6

[Question ID = 239][Question Description = 118_R0O6_11Dec_Set1_Shift2_Q18]
1. 1 [Option ID = 953]
2. 2 [Option ID = 954]
3. 3 [Option ID = 955]
4. 4 [Option ID = 956]

19)
If + denotes —, — denotes X, X denotes + and + denotes +, then what will be the value
of 60 x10+40+6—5 ?
(), 3 (2) 1e (3) 144 (4) 200

Afg 4ol E —, — S x, x VAT E + 3 = A § +, A 60x10+40 +6—5 I HH A
T ?
{1y 23 (2) 16 (3) 144 (4) 200

[Question ID = 240][Question Description = 119_R06_11Dec_Set1_Shift2_Q19]

1. 1 [Option ID = 957]

2. 2 [Option ID = 958]

3. 3 [Option ID = 959]
4. 4 [Option ID = 960]

20) How many triangles are there in the following figure ?

(1) 32 2 30 (3) 28 4) 24
ST o H forae g §2

(1) 32 2) 30 (3) 28 4) 24

[Question ID = 241][Question Description = 120_R0O6_11Dec_Set1_Shift2_Q20]
1. 1 [Option ID = 961]
2. 2 [Option ID = 962]
3. 3 [Option ID = 963]
4. 4 [Option ID = 964]



21)
Figure A is embedded in one of the four Answer figures. Select the correct alternative.

(1) (2) (3) (4)
SUgad M A =R SR THfadl § ¥ v H wmifed €1 we fosrew g

(1) (2) (3) (4)

[Question ID = 242][Question Description = 121_R06_11Dec_Set1_Shift2_Q21]
1. 1 [Option ID = 965]
2. 2 [Option ID = 966]
3. 3 [Option ID = 967]
4. 4 [Option ID = 968]

Topic:- RO_GA_11DEC_SH2_S1_B

1) Directions for questions
According to a certain code.
()  ‘sta fta kta’ means ‘rains pour down’
(I) ‘fta bta mta’ means ‘he goes down’
(III) ‘bta fta zta” means ‘he fell down’

we o ferg faom frder

et 7S 3 TR

(I) ‘sta fta kta’ %l AY ‘rains pour down’
() ‘fta bta mta’ 1 37 ‘he goes down’
(III) ‘bta fta zta’ 1 374 ‘he fell down’



Which word is represented by ‘zta’ ?

(1) he (2) fell

(3) down (4) cannot be determined
‘zta’ TFT wsg o0 Frefud oear 22

(1) he (2) fell

(3) down (4) 1 Tl fepan ST Fehdl

[Question ID = 243][Question Description = 122_R06_11Dec_Set1_Shift2_Q22]
1. 1 [Option ID = 969]
2. 2 [Option ID = 970]
3. 3 [Option ID = 971]
4. 4 [Option ID = 972]
2) Directions for questions
According to a certain code.
()  ‘sta fta kta’ means ‘rains pour down’
(II) ‘fta bta mta’ means "he goes down’

(III) “bta fta zta” means ‘he fell down’
we o ferg faom frder

et 7S 3 TR

(I) ‘sta fta kta’ %l AY ‘rains pour down’
() ‘fta bta mta’ 1 37 ‘he goes down’
(III) ‘bta fta zta’ 1 374 ‘he fell down’

Which word is represented by ‘mta’ ?

(1) he (2) goes

(3) down (4) cannot be determined
‘mta’ TE w=g &1 Frefud = &2

(1) he (2) goes

(3) down (4) 9 A fera ST Rl

[Question ID = 244][Question Description = 123_R06_11Dec_Set1_Shift2_Q23]
1. 1 [Option ID = 973]
2. 2 [Option ID = 974]
3. 3 [Option ID = 975]
4. 4 [Option ID = 976]



3) Directions for questions
According to a certain code.
() ‘sta fta kta’ means ‘rains pour down’
(I) ‘fta bta mta’ means ‘he goes down’
(III) ‘bta fta zta” means ‘he fell down’

uv o fere fawm frder

et Fre ¥ SER

(I) ‘sta fta kta’ %l 31% ‘rains pour down’
() ‘fta bta mta” 1 374 ‘he goes down’
(III) ‘bta fta zta” &1 37¢ ‘he fell down’

Which letter codes for ‘down’ ?

(1) fta (2) sta (3) kta (4) bta
o &R e 1 7Y ‘down’ §7
(1) fta (2) sta (3) kta (4) Dbta

[Question ID = 245][Question Description = 124_R06_11Dec_Set1_Shift2_Q24]
1. 1 [Option ID = 977]
2. 2 [Option ID = 978]
3. 3 [Option ID = 979]
4. 4 [Option ID = 980]

Topic:- RO_GA_11DEC_SH2_S1_C

1)
Select the option that is related to the third word in the same way as the second word is

related to the first word.
Scissors : Cloth : : Scythe :
(1) Paper (2) Grass (3) Wood (4) Metal
e 5 & 5 fasrey =1 9f e S for et v & S5 aXE et ® o o | o O ved v 9
wafe@ §
T %Uel : ESAl)
(1) AT (2) == (3) w*El (4) g
[Question ID = 246][Question Description = 125_R06_11Dec_Set1_Shift2_Q25]
1. 1 [Option ID = 981]
2. 2 [Option ID = 982]

3. 3 [Option ID = 983]
4. 4 [Option ID = 984]

Topic:- RO_COMP_11DEC_SH2_51



D Faster memory chip is

(1) DRAM (2) SRAM
(3) DRAM faster for Larger chips (4) 3D
it TR fog A g2

(1) DRAM (2) SRAM

(3) DRAM faster for Larger chips  (4) 3D

[Question ID = 247][Question Description = 126_R06_11Dec_Set1_Shift2_Q26]
1. 1 [Option ID = 985]
2. 2 [Option ID = 986]
3. 3 [Option ID = 987]
4. 4 [Option ID = 988]

2) The first computer architecture was introduced in :

(1) 1970 (2) 1968 (3) 1971
g1 "R SMfeheaar forg 9 o 1 ?
(1) 1970 (2) 1968 (3) 1971

[Question ID = 248][Question Description = 127_R0O6_11Dec_Set1_Shift2_Q27]
1. 1 [Option ID = 989]
2. 2 [Option ID = 990]
3. 3 [Option ID = 991]
4. 4 [Option ID = 992]

3)

A__ isapproximately one billion bytes.

(1) Kkilobytes (2) terabytes (3) gigabyte
Th T U feferad Sged & SueR §

(1) freieE (2) <TEE (3) Tinmerged

[Question ID = 249][Question Description = 128_R0O6_11Dec_Set1_Shift2_Q28]
1. 1 [Option ID = 993]
2. 2 [Option ID = 994]
3. 3 [Option ID = 995]
4. 4 [Option ID = 996]

4 System running more than one processes concurrently is called :

(1) Multiprocessing (2) Multiprogramming
(3) Real time (4) Batch processing
e, S for sk @ S T TR WY Il § R §

(1) o8 HER (2) e g

3) foa rEw (4) 9= HHIYA

[Question ID = 250][Question Description = 129_R0O6_11Dec_Set1_Shift2_Q29]
1. 1 [Option ID = 997]

2. 2 [Option ID = 998]

3. 3 [Option ID = 999]

4. 4 [Option ID = 1000]

4) 1973

4) 1973

(4) megabyte

(4) AETSZE



) Which of the following is an active cell in Excel ?

(1) Current cell (2) Formula

(3) Range (4) Cell address
e H 9 i v o sk Wi A 8 ?

(1) = S () ¥

(3) ot (4) H I Yal

[Question ID = 251][Question Description = 130_R0O6_11Dec_Set1_Shift2_Q30]
1. 1 [Option ID = 1001]
2. 2 [Option ID = 1002]
3. 3 [Option ID = 1003]
4. 4 [Option ID = 1004]

¢ An HTTP request contains parts.
1) 1 (2) 5 3) 3
Tk HTTP &334 3 oIFT B §
(1) 1 2) 5 3) 3

[Question ID = 252][Question Description = 131_R0O6_11Dec_Set1_Shift2_Q31]
1. 1 [Option ID = 1005]
2. 2 [Option ID = 1006]
3. 3 [Option ID = 1007]
4. 4 [Option ID = 1008]

7) A program that generally has more user-friendly interface than a DBMS is :

(1) Front end (2) Repository (3) Back end
T G S5 DBMS ¥ S1€1 SUNEdT ST e S0 ©
(1) e de 2) Y (3) w&UE

[Question ID = 253][Question Description = 132_R06_11Dec_Set1_Shift2_Q32]
1. 1 [Option ID = 1009]
2. 2 [Option ID = 1010]
3. 3 [Option ID = 1011]
4. 4 [Option ID = 1012]

8 From which generation of computers IC’'s were started in use ?

(1) 1t (2) ond (3) ard
IC’s S&IAE ST ol YEATT fhe Wl o HIureh & g3 7
(1) 1% (2) 2nd (3, 2

[Question ID = 254][Question Description = 133_R0O6_11Dec_Set1_Shift2_Q33]
1. 1 [Option ID = 1013]
2. 2 [Option ID = 1014]
3. 3 [Option ID = 1015]
4. 4 [Option ID = 1016]

(4)

(4)

(4)

(4)

Form

EEE

4th

4th



%) Who invented the first microprocessor ?

(1) Vint Cerf (2) Terence Percival
(3) John Mauchly (4) Ted Holf

g YeEUYRHE h1 STfashR fomae foran ?

(1) fdeah (2) " ufdaa

(3) S et (4) T E®

[Question ID = 255][Question Description = 134_R0O6_11Dec_Set1_Shift2_Q34]
1. 1 [Option ID = 1017]
2. 2 [Option ID = 1018]
3. 3 [Option ID = 1019]
4. 4 [Option ID = 1020]
10 What is the full form of ISDN ?
(1) International Service Digital Network
(2) Indian Service Digital Network
(3) Integrated Service Digital Network

(4) Internal Service Digital Network
ISDN #h! <1 gof %9 &7 8 2

(1) International Service Digital Network
(2) Indian Service Digital Network

(3) Integrated Service Digital Network
(4) Internal Service Digital Network

[Question ID = 256][Question Description = 135_R0O6_11Dec_Set1_Shift2_Q35]
1. 1 [Option ID = 1021]
2. 2 [Option ID = 1022]
3. 3 [Option ID = 1023]
4. 4 [Option ID = 1024]

11)

A is a set of rules.

(I) Domain (2) Hypertext (3) URL (4) Protocol
frdi &1 9gg 2

(1) A (2) BEW TFE (3) IR TA (4) YiEmRiA

[Question ID = 257][Question Description = 136_R06_11Dec_Set1_Shift2_Q36]
1. 1 [Option ID = 1025]
2. 2 [Option ID = 1026]
3. 3 [Option ID = 1027]
4. 4 [Option ID = 1028]

12)



LAN, WAN and MAN are computer networks covering different areas. Their first letter L,
W and M, respectively stand for :

(1) Local, Wide and Metropolitan  (2) Long, Wireless and Metropolitan
(3) Local, World and Middle (4) Least, Wireless and Maximum

LAN, WAN 3R MAN & Hures 951 & S T STem-31em &9 <1 291 8 | 379k U8d 38R [, W 3l
M e & ?

(1) Local, Wide 3 Metropolitan (2) Long, Wireless 31 Metropolitan
(3) Local, World iR Middle (4) Least, Wireless 3R Maximum

[Question ID = 258][Question Description = 137_R0O6_11Dec_Set1_Shift2_Q37]
1. 1 [Option ID = 1029]
2. 2 [Option ID = 1030]
3. 3 [Option ID = 1031]
4. 4 [Option ID = 1032]
13) Every component of a computer is either :
(1) application software or system software
(2) software or CPU/RAM
(3) hardware or software

(4) input or output devices

GIOT W Th T 2l 2 |

(1) application software T system software

(2) software 91 CPU/RAM

(3) hardware 3T software

(4) input ¥ output devices
[Question ID = 259][Question Description = 138_R06_11Dec_Set1_Shift2_Q38]
1. 1 [Option ID = 1033]
2. 2 [Option ID = 1034]

3. 3 [Option ID = 1035]
4. 4 [Option ID = 1036]

%) Compiling helps to create a(n) ;
(1) Program specification (2) algorithm

(3) executable program (4) Subroutine
Heper H FEIdl T ¢ |

(1) e fafew (2) TSR
(3) fsaEE Frg g (4) FaEIA

[Question ID = 260][Question Description = 139_R0O6_11Dec_Set1_Shift2_Q39]
1. 1 [Option ID = 1037]
2. 2 [Option ID = 1038]
3. 3 [Option ID = 1039]
4. 4 [Option ID = 1040]

15)



The legal right to use a software based on specific restrictions is granted via

(1) Software privacy policy (2) Software licence
(3) Software Ltd. Policy (4) Software guide
AIReerT SIS T o1 HFHT STIHR S fR 2 sam 1 enuria @
(1) SR M= i (2) HIRA TrEHY

(3) iR fafafes ifa (4) WIS MES

[Question ID = 261][Question Description = 140_R0O6_11Dec_Set1_Shift2_Q40]
1. 1 [Option ID = 1041]
2. 2 [Option ID = 1042]
3. 3 [Option ID = 1043]
4. 4 [Option ID = 1044]

16)  An electronic path that connects one part of a computer to another is :

(1) Logic gate (2) Serial Port (3) Modem (4)
ek SoiarRIfeh TR il HITOTR & ek SIFT oh1 GHY 91T ¥ STl €, Faeldl €
(1) s e 2) wHifga die (3) HieH (4)

[Question ID = 262][Question Description = 141_RO6_11Dec_Set1_Shift2_Q41]

1. 1 [Option ID = 1045]

2. 2 [Option ID = 1046]

3. 3 [Option ID = 1047]

4. 4 [Option ID = 1048]

7)) Which of the following is an example of an optical disk ?
(1) Digital Versatile disk (2) Magnetic disks
(3) Memory disks (4) Data bus disks

1 4 9 @i, siffesa fewr %1 ser &2
(1) Tfefsea adaEga fewn (2) TR fewn
(3) wuew fewn (4) < 99 fewr

[Question ID = 263][Question Description = 142_R06_11Dec_Set1_Shift2_Q42]
1. 1 [Option ID = 1049]
2. 2 [Option ID = 1050]
3. 3 [Option ID = 1051]
4. 4 [Option ID = 1052]

X is the maximum amount of data that can be stored on a storage
(1) Magnetic storage (2) Liquid storage
(3) Solid-state storage (4) Storage capacity

&1 1 atfeeram A € o WSt merm W Hafed feen S g g
(1) Fr=hd THI (2) A THA
(3) SI¥ Tl (4) UHE &

[Question ID = 264][Question Description = 143_R0O6_11Dec_Set1_Shift2_Q43]
1. 1 [Option ID = 1053]
2. 2 [Option ID = 1054]

B fean w2

Bus

Ere

medium.



3. 3 [Option ID = 1055]
4. 4 [Option ID = 1056]

19 A standard alphanumeric keyboard of a laptop usually consists number of keys :

(1) 76 - 80 keys (2) 81 -84 keys

(3) 100 - 104 keys (4) 108 - 112 keys

A2l T UF A TwHERE Feiged o FHfeEr gl 2 |
(1) 76 - 80 keys (2) 81 - 84 keys

(3) 100 - 104 keys (4) 108 - 112 keys

[Question ID = 265][Question Description = 144_R0O6_11Dec_Set1_Shift2_Q44]
1. 1 [Option ID = 1057]
2. 2 [Option ID = 1058]
3. 3 [Option ID = 1059]
4. 4 [Option ID = 1060]

20) What is the name of the first supercomputer of the world ?

(1) CDC 6600 (2) USENET

(3) COMODOR VIC/20 (4) PARAM-10000
fava & el YuR FTRRT H A F § 2

(1) CDC 6600 (2) USENET

(3) COMODOR VIC/20 (4) PARAM-10000

[Question ID = 266][Question Description = 145_R0O6_11Dec_Set1_Shift2_Q45]
1. 1 [Option ID = 1061]
2. 2 [Option ID = 1062]
3. 3 [Option ID = 1063]
4. 4 [Option ID = 1064]

21)
Computer is whatever is typed, submitted or transmitted to a computer system.
(1) input (2) output (3) data (4) report

wroRy fawn # S o fomen s €, S (submit) foRen ST R, ofR S ST €, 9w
g

(1) input (2) output (3) data (4) report

[Question ID = 267][Question Description = 146_R0O6_11Dec_Set1_Shift2_Q46]
1. 1 [Option ID = 1065]
2. 2 [Option ID = 1066]
3. 3 [Option ID = 1067]
4. 4 [Option ID = 1068]

22)



The three main parts of the processor are :
(1) ALU, Control Unit and Registers (2) ALU, Control Unit and RAM
(3) Cache, Control Unit and Registers (4) Control Unit, Registers and RAM

TR 3 1 37ed o €
(1) ALU, Control Unit ¥5 Registers (2) ALU, Control Unit T§ RAM
(3) Cache, Control Unit Ud Registers (4) Control Unit, Registers T8 RAM

[Question ID = 268][Question Description = 147_R0O6_11Dec_Set1_Shift2_Q47]
1. 1 [Option ID = 1069]
2. 2 [Option ID = 1070]
3. 3 [Option ID = 1071]
4. 4 [Option ID = 1072]

Topic:- RO_ENG_11DEC_SH2_S1

D Choose from the options, the synonym of the given word :
Sangfroid
(1) agitated (2) defame (3) composure (4) sanctity

[Question ID = 269][Question Description = 148_R0O6_11Dec_Set1_Shift2_Q48]
1. 1 [Option ID = 1073]
2. 2 [Option ID = 1074]
3. 3 [Option ID = 1075]
4. 4 [Option ID = 1076]

2)
In the given question, find out which part of the sentence (I/1I/III/IV) has an error. Choose
the correct option accordingly.

The nation should/be grateful/to the armed forces/for protecting them
4y (1) (1) (IV)

1) @) (2) (D) (3) () 4) (V)

[Question ID = 270][Question Description = 149_R0O6_11Dec_Set1_Shift2_Q49]
1. 1 [Option ID = 1077]
2. 2 [Option ID = 1078]
3. 3 [Option ID = 1079]
4. 4 [Option ID = 1080]

3)

Fill in the blank with the correct option.

With your letter, we regret we cannot allow any further discount.

(1) reference to (2) reference of (3) virtue to (4) behalf of

[Question ID = 271][Question Description = 150_R0O6_11Dec_Set1_Shift2_Q50]
1. 1 [Option ID = 1081]
2. 2 [Option ID = 1082]
3. 3 [Option ID = 1083]
4. 4 [Option ID = 1084]

4 Fill in the blank with an appropriate option.
He succeeded dint of perseverance and sheer hard work.
(1) with (2) by (3) over (4) beyond



[Question ID = 272][Question Description = 151_R0O6_11Dec_Set1_Shift2_Q51]
1. 1 [Option ID = 1085]
2. 2 [Option ID = 1086]
3. 3 [Option ID = 1087]
4. 4 [Option ID = 1088]

®) Choose from the options, the synonym of the given word.
Nonplus
(1) unperplexed (2) nullify (3) confuse (4) obviate
[Question ID = 273][Question Description = 152_R06_11Dec_Set1_Shift2_Q52]
1. 1 [Option ID = 1089]
2. 2 [Option ID = 1090]

3. 3 [Option ID = 1091]
4. 4 [Option ID = 1092]

®) Change the given sentence from direct speech to indirect speech.
The Queen said, “It gives me immense pleasure to be here this evening”.
(1) The Queen said that it gives her immense pleasure to be here this evening.
(2) The Queen said that it gives her immense pleasure to be there this evening.

(3) The Queen said that it gave her immense pleasure to be there that evening.
(4) The Queen said that it gave her immense pleasure to be there this evening.

[Question ID = 274][Question Description = 153_R0O6_11Dec_Set1_Shift2_Q53]
1. 1 [Option ID = 1093]
2. 2 [Option ID = 1094]
3. 3 [Option ID = 1095]
4. 4 [Option ID = 1096]

7)

Fill in the blank with the correct option.

He advised his sons not to quarrel themselves when he was dead but to remain
united.

(1) among (2) between (3) with (4) over

[Question ID = 275][Question Description = 154_R0O6_11Dec_Set1_Shift2_Q54]
1. 1 [Option ID = 1097]
2. 2 [Option ID = 1098]
3. 3 [Option ID = 1099]
4. 4 [Option ID = 1100]

8)
Choose the correctly spelt word from the options :
(1) reconnoiter (2) flourescent (3) harrassment (4) millenium

[Question ID = 276][Question Description = 155_R0O6_11Dec_Set1_Shift2_Q55]
1. 1 [Option ID = 1101]
2. 2 [Option ID = 1102]
3. 3 [Option ID = 1103]
4. 4 [Option ID = 1104]

%) Fill in the blank with the correct option.

There are passengers in the bus today than yesterday.
(1) least (2) fewer (3) little (4) much



[Question ID = 277][Question Description = 156_R06_11Dec_Set1_Shift2_Q56]
1. 1 [Option ID = 1105]
2. 2 [Option ID = 1106]
3. 3 [Option ID = 1107]
4. 4 [Option ID = 1108]

100 Choose from the options, the antonym of the given word :

‘INTREPID’
(1) undaunted (2) diffident (3) brave

[Question ID = 278][Question Description = 157_R0O6_11Dec_Set1_Shift2_Q57]
1. 1 [Option ID = 1109]
2. 2 [Option ID = 1110]
3. 3 [Option ID = 1111]
4. 4 [Option ID = 1112]

Topic:- RO_HIN_11DEC_SH2_S1

D! W

(1) HIH (2) dd (3) =4

[Question ID = 279][Question Description = 158_R0O6_11Dec_Set1_Shift2_Q58]
1. 1 [Option ID = 1113]
2. 2 [Option ID = 1114]
3. 3 [Option ID = 1115]
4. 4 [Option ID = 1116]

2 oyrrsrvm’ w1 iy w9 T
(1) T9HH (2) UYTEYH (3) TEnYH

[Question ID = 280][Question Description = 159_R06_11Dec_Set1_Shift2_Q59]
1. 1 [Option ID = 1117]
2. 2 [Option ID = 1118]
3. 3 [Option ID = 1119]
4. 4 [Option ID = 1120]

D frefafea § 9 39 @1 v o1ys ®
(1) e 2) s (3) vaai

[Question ID = 281][Question Description = 160_R06_11Dec_Set1_Shift2_Qé60]
1. 1 [Option ID = 1121]
2. 2 [Option ID = 1122]
3. 3 [Option ID = 1123]
4. 4 [Option ID = 1124]

Y frefafes § 9 qam Shifdn e @
1) == (2) &R (3) &R

[Question ID = 282][Question Description = 161_R0O6_11Dec_Set1_Shift2_Qé61]
1. 1 [Option ID = 1125]
2. 2 [Option ID = 1126]
3. 3 [Option ID = 1127]
4. 4 [Option ID = 1128]

5)

(4)

solvent

qYrEIYy



Sarelt o §t gwE § rdiarel gt fasa el off |
YEiferd U8 H YgE F ¢ -
(1) HHFH (2) L HEH (3) HYSH HRH (4) HeY R

[Question ID = 283][Question Description = 162_R06_11Dec_Set1_Shift2_Q62]
1. 1 [Option ID = 1129]
2. 2 [Option ID = 1130]
3. 3 [Option ID = 1131]
4. 4 [Option ID = 1132]

©) fearen 1 St off o, W o= §1' wEifRd TR
(1) ¥Hg& &I (2) HAYETEF HeAAH
(3) Tre=maras Hda™ (4) SIFTT=PETES HAAH

[Question ID = 284][Question Description = 163_R06_11Dec_Set1_Shift2_Qé63]
1. 1 [Option ID = 1133]
2. 2 [Option ID = 1134]
3. 3 [Option ID = 1135]
4. 4 [Option ID = 1136]

N3 =S g St deErd # |
iferd fora 2
(1) HIH (2) fawmis (3) SRS (4) EHHH
[Question ID = 285][Question Description = 164_R0O6_11Dec_Set1_Shift2_Qé64]
1. 1 [Option ID = 1137]
2. 2 [Option ID = 1138]

3. 3 [Option ID = 1139]
4. 4 [Option ID = 1140]

8)
‘STt hY ST H e 1 91 §
(1) == = (2) afaeits (3) dieH HUFRA  (4) Tk Bl & @A

[Question ID = 286][Question Description = 165_R06_11Dec_Set1_Shift2_Q65]
1. 1 [Option ID = 1141]
2. 2 [Option ID = 1142]
3. 3 [Option ID = 1143]
4. 4 [Option ID = 1144]

9)

eRTeeE’ H TEd IU ©
(1) %8 (2) dogE (3) HHHRA (4) wEHAifE

[Question ID = 287][Question Description = 166_R06_11Dec_Set1_Shift2_Q66]
1. 1 [Option ID = 1145]
2. 2 [Option ID = 1146]
3. 3 [Option ID = 1147]
4. 4 [Option ID = 1148]

10 5y Sve w1 A | favearw &' % foru wek v
(1)  goaTwed (2) e (3) dfg®w (4) onfeT



[Question ID = 288][Question Description = 167_R06_11Dec_Set1_Shift2_Qé67]
1. 1 [Option ID = 1149]
2. 2 [Option ID = 1150]
3. 3 [Option ID = 1151]
4. 4 [Option ID = 1152]

Topic:- RO_POLITY_11DEC_SH2_S1

1)
At the time of enactment of the Constitution, which one of the following ideals was not
included in the Preamble ?

(1) Liberty (2) Equality (3) Socialism (4) Justice
Hfaum & sAfufe & 999, fefafad § 9 ®F 91 1€ waE # e 7281 o ?
(1) s (2) HHMC (3) THNER (4) =M

[Question ID = 289][Question Description = 168_R06_11Dec_Set1_Shift2_Q68]
1. 1 [Option ID = 1153]
2. 2 [Option ID = 1154]
3. 3 [Option ID = 1155]
4. 4 [Option ID = 1156]

2)
“Rashtrapati Bhawan” was designed by :

(1) Edward Stone (2) Le Corbusier (3) Tarun Dutt (4) Edwin Lutyens
egufd wer ferdeh g AIHd a1 ?

(1) T=aE €M (2) <t s (3) @%U g (4) uefaA gfed=

[Question ID = 290][Question Description = 169_R0O6_11Dec_Set1_Shift2_Q69]
1. 1 [Option ID = 1157]
2. 2 [Option ID = 1158]
3. 3 [Option ID = 1159]
4. 4 [Option ID = 1160]

3) Which is the House where the Chair person is not the member of that House ?

(1) Rajya Sabha (2) Lok Sabha

(3) Legislative Assembly (4) Legislative Council
I o1 T\ " B, fod gfgan 6 wed =1 gew Tl g ?

(1) | (2) R gl

3) faum ma (4) faur 9fteg

[Question ID = 291][Question Description = 170_R0O6_11Dec_Set1_Shift2_Q70]
1. 1 [Option ID = 1161]
2. 2 [Option ID = 1162]
3. 3 [Option ID = 1163]
4. 4 [Option ID = 1164]



4) Secretariat of Parliament of India is :
(1) Under Ministry of Parliamentary Affairs
(2) Under President
(3) Independent of the Government
(4) Under the Supreme Court

RS HHE 1 Afere™
(1) HHEHE w1 7 6 STHA
(2) Ul ok STEH

(3) THR H T
(4) HaT=s =FHAH & A

[Question ID = 292][Question Description = 171_R0O6_11Dec_Set1_Shift2_Q71]
1. 1 [Option ID = 1165]
2. 2 [Option ID = 1166]
3. 3 [Option ID = 1167]
4. 4 [Option ID = 1168]

S{thch one of the following Prime Minister never faced the Parliament during his tenure ?
(1) Chandra Shekhar (2) V.P. Singh

(3) Chaudhary Charan Singh (4) LK. Gujral

=1 1 9 for wamesi 7 07 FwEwE 9 F oft 9% &1 9 1@ fRe ?

(1) ==9El (2) @l fde

(3) =Rl =R fog (4) 3TE. . TS

[Question ID = 293][Question Description = 172_R0O6_11Dec_Set1_Shift2_Q72]

1. 1 [Option ID = 1169]

2. 2 [Option ID = 1170]

3. 3 [Option ID = 1171]

4. 4 [Option ID = 1172]

¢) In which of the following Committee there is no representation of Rajya Sabha ?
(1) Public Accounts Committee
(2) Committee on Public Undertakings
(3) Committee on Government Assurances

(4) Estimates Committee

e § 9 form wfufa °, vs1 9w =1 =18 gfafafy 78 & ?
(1) ek oran |ifd

(2) eSS IuwH |iHfd

(3) TEHRI TvErEA |iHfd

(4) AR HEfa

[Question ID = 294][Question Description = 173_R06_11Dec_Set1_Shift2_Q73]
1. 1 [Option ID = 1173]



2. 2 [Option ID = 1174]
3. 3 [Option ID = 1175]
4. 4 [Option ID = 1176]

7). Who among the following, forms the Advisory Committee of the Parliament ?

(1) Speaker of the Lok Sabha (2) Vice-President of India

(3) President of India (4) Minister of Parliamentary Affairs
1 5 @ i S @l sl 9fafa a9 82

(1) rRE 31 (2) R 1 IYURYfd

(3) ¥Rd @ Tl (4) |9 = H1HH

[Question ID = 295][Question Description = 174_R0O6_11Dec_Set1_Shift2_Q74]
1. 1 [Option ID = 1177]
2. 2 [Option ID = 1178]
3. 3 [Option ID = 1179]
4. 4 [Option ID = 1180]

8)
What could be the maximum time limit of “Zero Hour” ?

(1) 30 minutes (2) 60 minutes (3) 90 minutes (4) Indefinite period

‘Y9 WA (Zero Hour)' 1 Afeerad g9 dmn 91 © 2

(1) 30 fae 2) 60 fHTe (3) 90 fAee 4) AfHf=E THF 9

[Question ID = 296][Question Description = 175_R0O6_11Dec_Set1_Shift2_Q75]
1. 1 [Option ID = 1181]
2. 2 [Option ID = 1182]
3. 3 [Option ID = 1183]
4. 4 [Option ID = 1184]

%) Which of the following appointments is not made by the President of India ?

(1) Chief of the Army (2) Speaker of the Lok Sabha
(3)  Chief Justice of India (4) Chief of the Air Force

o7 & fora PR YA ¥ T g T S 2

(1) oadT 998 (2) TR HH A

(3) WG o HEA AR (4) IEET 9HE

[Question ID = 297][Question Description = 176_R06_11Dec_Set1_Shift2_Q76]
1. 1 [Option ID = 1185]
2. 2 [Option ID = 1186]
3. 3 [Option ID = 1187]
4. 4 [Option ID = 1188]



10) The elected representatives in India are part of :

(1) Judiciary (2) Legislature

(3) Executive (4) Election Commission
wid B <+ g wfafafy, femes am @ &

(1)  araTersht (2) fermfae

(3) IR (4) =AE A

[Question ID = 298][Question Description = 177_R06_11Dec_Set1_Shift2_Q77]
1. 1 [Option ID = 1189]
2. 2 [Option ID = 1190]
3. 3 [Option ID = 1191]
4. 4 [Option ID = 1192]
) The term “mixed economy” denoted :

(1) existence of both rural and urban sectors

(2) existence of both private and public sectors
(3) existence of both heavy and small industries
(4

) existence of both developed and underdeveloped sectors

“fafer sreferawen’ w1 319 ® .

(1) g R = S &1 3

(2) TEHRT AR fAsit wmii = g

(3) YRY ST oy i 1

(4) fowfaa oiv sreufaesfod awi =1
[Question ID = 299][Question Description = 178_R0O6_11Dec_Set1_Shift2_Q78]
1. 1 [Option ID = 1193]
2. 2 [Option ID = 1194]

3. 3 [Option ID = 1195]
4. 4 [Option ID = 1196]

2). Which one of the following is not an example of economic overheads ?

(1)  Schools (2) Sanitary Facilities
(3) Roads and Railways (4) Coal Mines
e 8§ § s stfelfer w9R 1 IereT 6 8 2

(1) fomre (2) FET T Gl

(3) TEH AR @ (4) M @EH

[Question ID = 300][Question Description = 179_R0O6_11Dec_Set1_Shift2_Q79]
1. 1 [Option ID = 1197]
2. 2 [Option ID = 1198]
3. 3 [Option ID = 1199]
4. 4 [Option ID = 1200]

13)



“Panihari” is the folk dance from which State ?

(1) Nagaland (2) Gujarat (3) Kerala
oferdt forg T 1wk T €2
(1) et (2) TR ()

[Question ID = 301][Question Description = 180_R0O6_11Dec_Set1_Shift2_Q80]
1. 1 [Option ID = 1201]
2. 2 [Option ID = 1202]
3. 3 [Option ID = 1203]
4. 4 [Option ID = 1204]

14)
Shiv Kumar Sharma plays which instrument ?

(1) Sarod (2) Flute (3) Sitar
forg For vl frg o ¥ fou afag €2

(1) %E (2) =gl (3) faar

[Question ID = 302][Question Description = 181_R06_11Dec_Set1_Shift2_Q81]
1. 1 [Option ID = 1205]
2. 2 [Option ID = 1206]
3. 3 [Option ID = 1207]
4. 4 [Option ID = 1208]

15 Which one of the following was not a “Jain Tirthankar” ?

(1) Chandraprabha (2) Naathmuni
(3) Nemi (4) Sambhav
T | R S el T

(1) =" (2) e

(3) (4) iy

[Question ID = 303][Question Description = 182_R0O6_11Dec_Set1_Shift2_Q82]
1. 1 [Option ID = 1209]
2. 2 [Option ID = 1210]
3. 3 [Option ID = 1211]
4. 4 [Option ID = 1212]

16) “Alphana” folk art form belongs to which place ?

(1) Gujarat (2) Maharashtra (3) West Bengal
" grea ! wieR e TR T5 @ wafiE § 2
(1) o (2) ¥R (3) f=H ST

[Question ID = 304][Question Description = 183_R0O6_11Dec_Set1_Shift2_Q83]
1. 1 [Option ID = 1213]
2. 2 [Option ID = 1214]
3. 3 [Option ID = 1215]
4. 4 [Option ID = 1216]

17)

(4)

Karnataka

HAEH

Santoor

REA

(4)

(4)

Bihar

forer



INS Sarvekshak has been deployed in which of the following countries for cunduction joint
hydrographic surveys ?

(1) Sri Lanka (2) Mauritius (3) Vietnam (4) Myanmar
HH BRI heh HA&U T o foau INS &k &l e <0 & fore G fofen on @ 2
(1) =i sl (2) AW (3) fogaam (4) ¥ER

[Question ID = 305][Question Description = 184_R06_11Dec_Set1_Shift2_Q84]
1. 1 [Option ID = 1217]
2. 2 [Option ID = 1218]
3. 3 [Option ID = 1219]
4. 4 [Option ID = 1220]

18)

Which one of the following is the oldest Indian philosophy ?

(1) Nyaya (2) Sankhya (3) Yoga (4) Vedanta
7 | @ B Fod g A 22 8 2

(1) - 2) WA (3) A (4) 9gF

[Question ID = 306][Question Description = 185_R06_11Dec_Set1_Shift2_Q85]
1. 1 [Option ID = 1221]
2. 2 [Option ID = 1222]
3. 3 [Option ID = 1223]
4. 4 [Option ID = 1224]

Topic:- RO_GS_11DEC_SH2_S1

1) Who discovered the Law of Floatation ?

(1) Newton (2) Thomas Edison
(3) Archimedes (4) John Dalton
SeedTe o1 TagTa fee st o ?

(1) A (2) o TfeET

(3) sehfHfEs (4) ST el

[Question ID = 307][Question Description = 186_R06_11Dec_Set1_Shift2_Q86]
1. 1 [Option ID = 1225]
2. 2 [Option ID = 1226]
3. 3 [Option ID = 1227]
4. 4 [Option ID = 1228]

2) Soap bubble attains spherical shape due to :

(I) Inertia (2) Pressure

(3) Surface tension (4) Viscosity

g 1 gerge fefafad § 9 fHas SR ierR SR o ol § 2
(1) e (2) =9

(3) T894 (4) A

[Question ID = 308][Question Description = 187_R06_11Dec_Set1_Shift2_Q87]
1. 1 [Option ID = 1229]
2. 2 [Option ID = 1230]



3. 3 [Option ID = 1231]
4. 4 [Option ID = 1232]

3) If the K.E. of a body is increased by 300%, its momentum will increase by :
(1) 100% (2) 150% (3) 200%

TR & o TSt Ssh 300% = 1 &l S a1 $HeR1 a7 Toh 1 9 S ?

(1) 100% 2) 150% (3) 200%

[Question ID = 309][Question Description = 188_R06_11Dec_Set1_Shift2_Q88]
1. 1 [Option ID = 1233]
2. 2 [Option ID = 1234]
3. 3 [Option ID = 1235]
4. 4 [Option ID = 1236]

(4)

(4)

4 Which of the following pairs has the same unit for both component ?

(1) Power and Pressure (2) Force and Work
(3) Work and Energy (4) Pressure and Force
7§ 9 fohe SISl i T8 HHA @ 7

(1) iRt 3R g (2) =& 3R wH

(3) HE R F (4) TIME SR FA

[Question ID = 310][Question Description = 189_R06_11Dec_Set1_Shift2_Q89]
1. 1 [Option ID = 1237]
2. 2 [Option ID = 1238]
3. 3 [Option ID = 1239]
4. 4 [Option ID = 1240]

) One light year is approximately equal to :

(1) 10" km 2) 10" m (3)
ek WhTST Y TS SeR @
(1) 10" km (2) 10 m (3)

[Question ID = 311][Question Description = 190_R06_11Dec_Set1_Shift2_Q90]
1. 1 [Option ID = 1241]
2. 2 [Option ID = 1242]
3. 3 [Option ID = 1243]
4. 4 [Option ID = 1244]

1016 m

1016 m

(4)

(4)

400 %

400 %

1016 km

1016 km



6) Which of the following process explains ‘Anodising’ ?
(1) Burning of Copper
(2) Formation of thick oxide layer of Aluminium
(3) Formation of thick oxide layer of Iron
(4) Burning of husk
= # 4 21 O 9fsh THEiE (Anodising) STfHeTeER & € 2
(1) i o1 S
(2) UHMEH T AFEE W H T
(3) TIE I HIEl HATFIEE YL Kl &1
(4) o8 ST

[Question ID = 312][Question Description = 191_R0O6_11Dec_Set1_Shift2_Q91]

1. 1 [Option ID = 1245]

2. 2 [Option ID = 1246]

3. 3 [Option ID = 1247]
4. 4 [Option ID = 1248]

7)  Which of the following elements has the electronic configuration 2 ?

(1) Magnesium (2) Helium (3) Hydrogen (4) Sodium
o ac =1 soraRITes faame 2 § 7
(1) HfREs (2) feelrm (3) BEGSH (4) Hifemm

[Question ID = 313][Question Description = 192_R0O6_11Dec_Set1_Shift2_Q92]
1. 1 [Option ID = 1249]
2. 2 [Option ID = 1250]
3. 3 [Option ID = 1251]
4. 4 [Option ID = 1252]

8)  Atomic number of an element equals to what present in the nucleus of its atom :

(I) Proton (2) Neutron

(3) Electron (4) Proton and Neutron

Rl aca o1 IRHIY] &N 35 YA o AT o SUfed fohg &ho1 &1 §@& & e §
(1) e (@) =EH

(3) A (4) HRH IR M

[Question ID = 314][Question Description = 193_R0O6_11Dec_Set1_Shift2_Q93]
1. 1 [Option ID = 1253]
2. 2 [Option ID = 1254]
3. 3 [Option ID = 1255]
4. 4 [Option ID = 1256]

%) The acid used in lead storage battery is :
(1) Oxalic acid (2) HNO, (3) HiBO, (4) H,S0,
S 377 T HUE Sl H W B €
(1) SAtraferer a1 (2) HNO, (3) H4BO, (4) H,S0,



[Question ID = 315][Question Description = 194_R06_11Dec_Set1_Shift2_Q94]
1. 1 [Option ID = 1257]
2. 2 [Option ID = 1258]
3. 3 [Option ID = 1259]
4. 4 [Option ID = 1260]

10)
The first element of rare earth metal is :

(1) Cerium (2) Actinium (3) Uranium (4) Lanthanum
TTH I TUH e &I g €
(1) @fem (2) ufefmH (3) FfEm (4) A&

[Question ID = 316][Question Description = 195_R0O6_11Dec_Set1_Shift2_Q95]
1. 1 [Option ID = 1261]
2. 2 [Option ID = 1262]
3. 3 [Option ID = 1263]
4. 4 [Option ID = 1264]

11)
Which of the following is a surface phenomena ?

(1) Boiling (2) Melting (3) Evaporation (4) Freezing
71 | | -9 He Heaiferd 9iEe § 2

(1) & (2) o (3) @nfoad 2 (4) SEA

[Question ID = 317][Question Description = 196_R06_11Dec_Set1_Shift2_Q96]
1. 1 [Option ID = 1265]
2. 2 [Option ID = 1266]
3. 3 [Option ID = 1267]
4. 4 [Option ID = 1268]

12)
Russian Scientist who proposed the theory of origin of life was :

(1) Oparin (2) Haldane (3) Miller (4) Fox

78 @ fore w6 dwfes 7 Sftem =0 Scafa (iRfSA oife aew) @1 fagra wfrafed fean an?
(1) sinfE (2) ®leeA (3) faer (4) THIFE

[Question ID = 318][Question Description = 197_R0O6_11Dec_Set1_Shift2_Q97]
1. 1 [Option ID = 1269]
2. 2 [Option ID = 1270]
3. 3 [Option ID = 1271]
4. 4 [Option ID = 1272]

112’01*(1 gene was given by :

(1) Morgan (2) Mendel (3) Johannsen (4) D. Bridge
3 H A S 9g o widaed i A 92

(1) HFH (2) #Hed (3) A (4) S fos

[Question ID = 319][Question Description = 198_R0O6_11Dec_Set1_Shift2_Q98]
1. 1 [Option ID = 1273]
2. 2 [Option ID = 1274]
3. 3 [Option ID = 1275]
4. 4 [Option ID = 1276]



4 Turpentine Oil is commonly obtained from :

(1) Pinus (2) Cycas (3)  Taxodium
AN det fored foeran 8 2
(1) =z (2) @EFY (3) ZHifeTH

[Question ID = 320][Question Description = 199_R06_11Dec_Set1_Shift2_Q99]
1. 1 [Option ID = 1277]
2. 2 [Option ID = 1278]
3. 3 [Option ID = 1279]
4. 4 [Option ID = 1280]

15)
Insulin is a kind of :

(1) Enzyme (2) Hormone (3) Carbohydrate

T U TE H Z

4)  Thuja

4) gor

(4)  Vitamin

(1) TilA (2) FEHA (3) EEESE (4) T
[Question ID = 321][Question Description = 200_R06_11Dec_Set1_Shift2_Q100]
1. 1 [Option ID = 1281]
2. 2 [Option ID = 1282]
3. 3 [Option ID = 1283]
4. 4 [Option ID = 1284]
16) The purpose of rainwater harvesting is to :
(1) wuse it for irrigation (2) culture fishes
(3) wuse it for washing clothes (4) recharge ground water
1ML % UIHT o HIET H1 Tk Sevd 1 & 7
(1) fH=E § 9dm (2) HTel e
(3) HUS °H H ST (4) Y-S QAR

[Question ID = 322][Question Description = 201_R0O6_11Dec_Set1_Shift2_Q101]
1. 1 [Option ID = 1285]
2. 2 [Option ID = 1286]
3. 3 [Option ID = 1287]
4. 4 [Option ID = 1288]

17)
The microorganisms comprises of :

(I) Bacteria (2) Fungi (3) Green Plants

geH i) B 7 2

(1) Sfgefa 2) wHa® (3) BWUH
[Question ID = 323][Question Description = 202_R06_11Dec_Set1_Shift2_Q102]
1. 1 [Option ID = 1289]
2. 2 [Option ID = 1290]

3. 3 [Option ID = 1291]
4. 4 [Option ID = 1292]

Topic:- RO_HIST_11DEC_SH2_S1

1)

4) (1) and (2) both

4) (1) () A



Which among the following is the most appropriate cause for the failure of Razia Begum?
(1) Her gender

(2) Her intention to be the ruler not only in name but also in reality

(3) Her unpopularity with the people of Delhi

(4) Her incompetence

e 5 9§ IS 99 & AEEA 29 H FEH THE FRO HE § 2
(1) 3He Afean 2
(2) had TH & fau & arcda d e S 1 A
(3) fooeil o M H ITeh! STCRTI
(4) 3B HEHEA
1[Q:1c[e;t19n |Ig =13;§?]][Question Description = 203_R06_11Dec_Set1_Shift2_Q103]
2. 2 [Option ID = 1294]

3. 3 [Option ID = 1295]
4. 4 [Option ID = 1296]

2) Who got Sanchi Stupa constructed ?

(1) Chandragupta (2) Kautilya
(3) Gautam Buddha (4) Ashok

it 1 Ty fHaa sHam g2

(1) == (2) Hifes

(@) T IS (4)

[Question ID = 325][Question Description = 204_R0O6_11Dec_Set1_Shift2_Q104]
1. 1 [Option ID = 1297]
2. 2 [Option ID = 1298]
3. 3 [Option ID = 1299]
4. 4 [Option ID = 1300]

3) Who is known as Napoleon of India :

(1) Srigupta (2) Chandragupta
(3) Samudragupta (4) Devicharangupta
R 1 e foR et s 8 2

(1) A= (2) wE

(3) HHETW (4) <HERUTE

[Question ID = 326][Question Description = 205_R0O6_11Dec_Set1_Shift2_Q105]
1. 1 [Option ID = 1301]
2. 2 [Option ID = 1302]
3. 3 [Option ID = 1303]
4. 4 [Option ID = 1304]



4 Who of the following was a contemporary of Chengez Khan ?

(1) Mahmud Ghazanvi (2) Itutmish

(3) Alauddin Khalji (4) Mohammad - Bin - Tuglaq
T ¥ HME IS @ H YR © ?

(1) HeqE TSl (2) EeqdfH

(3) SrerEA faesi (4) Hewe foT gerh

[Question ID = 327][Question Description = 206_R06_11Dec_Set1_Shift2_Q106]
1. 1 [Option ID = 1305]
2. 2 [Option ID = 1306]
3. 3 [Option ID = 1307]
4. 4 [Option ID = 1308]

®) Which of the following newspapers was started by Annie Besant ?
(1) The Hindu (2) Indian Express
(3) The Time of India (4) New India
TTH | HA-E1 HHER 95 U S5 A 3% foen an?
1) =feg (2) sfea wwud
(3) T IEH AT gfem (4) e
[Question ID = 328][Question Description = 207_R06_11Dec_Set1_Shift2_Q107]
1. 1 [Option ID = 1309]
2. 2 [Option ID = 1310]
3. 3 [Option ID = 1311]
4. 4 [Option ID = 1312]
6) Chandragupta Maurya defeated :
(1) Porus (2) Alexander (3) Seleucus (4)

TN =il A ford g o ?
(1) dUr™ (2) WelRiel (3) HegH (4)

[Question ID = 329][Question Description = 208_R0O6_11Dec_Set1_Shift2_Q108]
1. 1 [Option ID = 1313]
2. 2 [Option ID = 1314]
3. 3 [Option ID = 1315]
4. 4 [Option ID = 1316]

Ambbhi

Kejpat|

) Who among the following was the real founder of Aligarh Muslim University ?

(1) Nawab Salimullah (2) Syed Ahmad Khan
(3) Abul Kalam Azad (4) Hakim Muhammed Said
T g $H eiig e favafaee & ga demws 472
(1) == Hﬁilﬂﬁls (2) H9g Tene @
(3) 3T FHAM ATSIE (4) THM HAEHS T
[Question ID = 330][Question Description = 209_R0O6_11Dec_Set1_Shift2_Q109]
1. 1 [Option ID = 1317]

2. 2 [Option ID = 1318]
3. 3 [Option ID = 1319]



4. 4 [Option ID = 1320]

8) Amir Khusro was a famous court poet of :

(1) Akbar (2) Alauddin Khalji

(3) Mahmud Ghazanvi (4) Lodi
iR g ¥ e S e o

(1) 3R (2) EREA fEas!

(3) HEHHE TSisl (4) @

[Question ID = 331][Question Description = 210_R0O6_11Dec_Set1_Shift2_Q110]
1. 1 [Option ID = 1321]
2. 2 [Option ID = 1322]
3. 3 [Option ID = 1323]
4. 4 [Option ID = 1324]

%) The Mehrauli Pillar inscription belongs to the period of the :
(1) Mauryas (2) Kushanas (3) Sungas

Helrell Ty s1fireta foraesr Iog 9 gefug 272
(1) He (2) Fum (3) g1

[Question ID = 332][Question Description = 211_R0O6_11Dec_Set1_Shift2_Q111]
1. 1 [Option ID = 1325]
2. 2 [Option ID = 1326]
3. 3 [Option ID = 1327]
4. 4 [Option ID = 1328]

100 Which ruler founded the city of Agra ?

(1) Sikander Lodi (2) Akbar
(3) Firoz Shah Tughlaq (4) Shahjahan

SR 18T Rl TRy ST = <19 o ?
(1) fHwe @t (2) TFHT

e

3) TS wE g (4) VESTEl

[Question ID = 333][Question Description = 212_R0O6_11Dec_Set1_Shift2_Q112]
1. 1 [Option ID = 1329]
2. 2 [Option ID = 1330]
3. 3 [Option ID = 1331]
4. 4 [Option ID = 1332]

(4)

Guptas



1) Baba Amte is known for which of the following Social Work ?
(1) Work for Poor and Homeless People
(2) Work to Save Ganga
(3) Work for Leprosy Patients
(4) Work for Landless Labourers

T st Targ arnfses 6 % fae s S € 2
(1) & IR =R &t § Heifd a5

(2) I RS 1 FEH H HE R

(3) & UM = foru ™

@) e TSl % foe we w

[Question ID = 334][Question Description = 213_R0O6_11Dec_Set1_Shift2_Q113]
1. 1 [Option ID = 1333]
2. 2 [Option ID = 1334]
3. 3 [Option ID = 1335]
4. 4 [Option ID = 1336]

112111 India, the first to put forward the theory that the earth revolves round the Sun was :
(1) Aryabhatta (2) Brahmagupta

(3) Bana (4) Kalhana

gedt g % IR 3R et ¥ 39 fogra o gfaueT wra § wed gt R fEer an

(1) swvE (2) T

(3) MO (4) <heRd

[Question ID = 335][Question Description = 214_R0O6_11Dec_Set1_Shift2_Q114]
1. 1 [Option ID = 1337]
2. 2 [Option ID = 1338]
3. 3 [Option ID = 1339]
4. 4 [Option ID = 1340]

13)

In Which of the following sessions, Mahatma Gandhi became president of Indian National
Congress ?

(1) Delhi (2) Gaya (3) Belgaum (4) Lucknow
TEredT Tt Sfeae vee e % g sifedye d steag 9 92
(1) feeet (2) T (3) SERTH 4) TETS

[Question ID = 336][Question Description = 215_R0O6_11Dec_Set1_Shift2_Q115]
1. 1 [Option ID = 1341]
2. 2 [Option ID = 1342]
3. 3 [Option ID = 1343]
4. 4 [Option ID = 1344]



4) Great Stupa of Sanchi is in :

(1) Uttar Pradesh (2) Madhya Pradesh
(3) Arunachal Pradesh (4) Andhra Pradesh
i<t 1 HeH WU R T H €7

(1) T g™ (2) T YW

(3) STEUEA Wl (4) Ty g2

[Question ID = 337][Question Description = 216_R0O6_11Dec_Set1_Shift2_Q116]
1. 1 [Option ID = 1345]
2. 2 [Option ID = 1346]
3. 3 [Option ID = 1347]
4. 4 [Option ID = 1348]

Topic:- RO_NATMOV_11DEC_SH2_S1

1 When did the British Government appoint the Simon Commission?

(1) April 1919 (2) November 1921
(3) February 1922 (4) November 1927
fafewr wwr 3 wiuA wdtvm =t fgfa %a &2

(1) &9d 1919 (2) A 1921

(3) WA 1922 (4) R 1927

[Question ID = 338][Question Description = 217_R06_11Dec_Set1_Shift2_Q117]
1. 1 [Option ID = 1349]
2. 2 [Option ID = 1350]
3. 3 [Option ID = 1351]
4. 4 [Option ID = 1352]

2) Lord Cornwallis introduced :

(1) Mahalwari System (2) Permanent Revenue Settlement
(3) Ryotwari System (4) Jagirdari System
S SHHeTferd o gRI & T :

(1) HEeTard gen (2) TR USRS deE
(3) TIdErt g (4) SIFTRERT gen

[Question ID = 339][Question Description = 218_R06_11Dec_Set1_Shift2_Q118]
1. 1 [Option ID = 1353]
2. 2 [Option ID = 1354]
3. 3 [Option ID = 1355]
4. 4 [Option ID = 1356]



3) The famous Gateway of India was designed by :

(1) William Stevens (2) Joseph Baptista

(3) George Wittet (4) Francis Newton Souza
wHag e AT gfean farae grn sifverfeqa on?

(1) faferm =g (2) SIE® arfu

(3) ISl faee (4)  WIfH" =g gal

[Question ID = 340][Question Description = 219_R0O6_11Dec_Set1_Shift2_Q119]
1. 1 [Option ID = 1357]
2. 2 [Option ID = 1358]
3. 3 [Option ID = 1359]
4. 4 [Option ID = 1360]

4)
During the Quit India Movement in 1942, the longest term parallel government was established
n:

(1) Balia (U.P) (2) Tamulak (Bengal)

(3) Satara (Maharashtra) (4) Talchar (Odisha)

1942 & WG Brel TSI & SRHE, Fol o9 T0F F o0 AR TR el a1 T8 ?
(1) s (39.) (2) dHAH (ST

(3) HAW (HERTZ) (4) TR (STEEm)

[Question ID = 341][Question Description = 220_R06_11Dec_Set1_Shift2_Q120]
1. 1 [Option ID = 1361]
2. 2 [Option ID = 1362]
3. 3 [Option ID = 1363]
4. 4 [Option ID = 1364]

5'f)L]::]:*Lsit:ier the following statements regarding the great social reformer ‘Jyotirao Phule” :
(i) He formed the Satya Shodhak Samaj

(ii) He opened the first school for girls in India in August 1848.

Which of the statements given above is/are correct ?

(1) (i) only (2) (i) only

(3) Both (i) and (ii) (4) Neither (i) nor (ii)

TR TS QU S T R, F R H Frefatad a9 )

() SR T e qHS aE

(i) ST 1848 H I=i- wrefehdl o fau wgen formem @re |

YA HeET H 9 A A HYE TE L
(1) e (i) (2) FE (i)
(3) (i) 3R (ii) S (4) (i) 3R (i) § e &

[Question ID = 342][Question Description = 221_R0O6_11Dec_Set1_Shift2_Q121]
1. 1 [Option ID = 1365]
2. 2 [Option ID = 1366]



3. 3 [Option ID = 1367]
4. 4 [Option ID = 1368]

) Who among the following Sikh Gurus wrote Adi Grantha ?

(1) Guru Nanak Dev (2) Guru Ram Das

(3) Guru Arjun Dev (4) Guru Govind Singh
74 9§ frg faa 7% 7 anfe Uy =1 = i ?

(1) % % <d (2) 7% THTH

(3) T® A < (4) % e fie

[Question ID = 343][Question Description = 222_R06_11Dec_Set1_Shift2_Q122]
1. 1 [Option ID = 1369]
2. 2 [Option ID = 1370]
3. 3 [Option ID = 1371]
4. 4 [Option ID = 1372]

) The first President of Constituent Assembly of India was :

(1) Rajendra Prasad (2) Sacchidananda Sinha

(3) Jawaharlal Nehru (4) Morarji Desai

RA 1 HfGE T % 98t g9mfd &
(1) TS= Y5 (2) i< fE
(3) TR & (4) RIS <R
[Question ID = 344][Question Description = 223_R0O6_11Dec_Set1_Shift2_Q123]
1. 1 [Option ID = 1373]
2. 2 [Option ID = 1374]

3. 3 [Option ID = 1375]
4. 4 [Option ID = 1376]

8) When was the first law commission established in India ?

(1) 1834 2) 1839 (3) 1843
IR | vgeln fafy sHeE e =@ T on |
(1) 1834 2) 1839 (3) 1843

[Question ID = 345][Question Description = 224_R0O6_11Dec_Set1_Shift2_Q124]
1. 1 [Option ID = 1377]
2. 2 [Option ID = 1378]
3. 3 [Option ID = 1379]
4. 4 [Option ID = 1380]

9)

(4)

(4)

1853

1853



Consider the following statement regarding the August offer proposed in 1940 by the then
Governor General of India :

(i) It proposed to set up a constituent assembly after the World War II
(if) Itignored the demands of minorities
(iii) It proposed to expand the executive council of the Governor General
Which of the following statements given above are correct ?
(1) (i) and (ii) only (2) (ii) and (iii) only
(3) (i) and (iii) only (4) (i), (ii) and (iii)
1940 T TeehTell T STTel gRT el ST Jedre (37T i) 9 Heifed frefafea s =
TS
() =94 fadia favags & @ Hfaym |1 a9F 1w fwman T
(i) THH STCUHEASD] Kl HIT sl ToRAeS fHA1 T |
(iii) e S & FASRT UNES 1 oI S =1 Y&E o1
frefafed soieEa sl § § #F 91 w97 98 82
(1) e (i) 3T (i) (2) ae (if) 3T (i)
(3) e (i) SR (i) (4)  (Q) (i) ¥R (iid)
[Question ID = 346][Question Description = 225_R0O6_11Dec_Set1_Shift2_Q125]
1. 1 [Option ID = 1381]
2. 2 [Option ID = 1382]

3. 3 [Option ID = 1383]
4. 4 [Option ID = 1384]

10 Who founded the ‘Indian National Union” during 1884 ?
(1) Firoz Shah Mehta (2) A.O. Hume

(3) Mary Carpenter (4) Anand Mohan Bose
T 1884 & T Efeam Jvme gfae &t wara feam i 2
(1) forarsreme e (2) T 3. gH
(3) B FRU=T (4) g Higd S "
[Question ID = 347][Question Description = 226_R06_11Dec_Set1_Shift2_Q126]
1. 1 [Option ID = 1385]
2. 2 [Option ID = 1386]

3. 3 [Option ID = 1387]
4. 4 [Option ID = 1388]

11)



The Azamgarh proclamation that was about the objectives of the rebels of 1857, mentioned
to fulfill the interests of which of the following classes ?

(i) Zamindars

(ii) Merchants

(iii) Public Servants

Select the correct answer using the codes given below :

(1) (i) and (ii) only (2)  (ii) only

(3) (i) and (iii) only (4) (i), (ii) and (iii)

STSTETE =Womas S fok 1857 o fagie ¥ waifed o1, forq dareh o STl sl Sl sl 93 A 9§ 2
o ?

(i) SRR

(ii) AT

(iii) TTFERT H

(1) e (i) @R (i) (2) I (ii)

(3) ohdd (ii) S (iii) (4) (i), (i) ¥R (iii)

[Question ID = 348][Question Description = 227_R0O6_11Dec_Set1_Shift2_Q127]
1. 1 [Option ID = 1389]
2. 2 [Option ID = 1390]
3. 3 [Option ID = 1391]
4. 4 [Option ID = 1392]

12) The Communal Award was made by the :

(1) Ramsay Macdonald (2) Irwin

(3) Macaulay (4) Ripon
Rk g e 3aTe (Communal Award) SHTET TR 011
(1) =8 HhSHee (2) =

(3) HeFl (4) o=

[Question ID = 349][Question Description = 228_R06_11Dec_Set1_Shift2_Q128]
1. 1 [Option ID = 1393]
2. 2 [Option ID = 1394]
3. 3 [Option ID = 1395]
4. 4 [Option ID = 1396]

13)



Which of the following statements is correct about the Swarajists ?
(1) They formed a new political party out of the frame of the Indian National Congress

(2) They won majority of the elected seats in the Central Legislative Assembly in the election
of 1923

(3) They forced the British Indian Government successfully to change its policies

(4) They filled the political void at a time when the national movement was recouping its
strength

e A & 1A W1 e Tusanedl Gee H Té 2

(1) =M e Tvra Hig & " 9 aed STUH TIsTifae a2 597 |

(2) TR FwE fagEE g 1923 § Afesha Wi W ST gifad &

(3) 3= fafewr fegm ewaHe #t Hifa #i agem & fo sren fwan

(4) TR TSHITTS T h] T9 W d AL S ST The 91 & off |

[Question ID = 350][Question Description = 229_R0O6_11Dec_Set1_Shift2_Q129]
1. 1 [Option ID = 1397]
2. 2 [Option ID = 1398]
3. 3 [Option ID = 1399]
4. 4 [Option ID = 1400]

14)
Consider the following Statements regarding “The Youth Men’s Indian Association” :

(i) It was organised by Annie Besant in 1914 in Madras

(ii) Its main aim was to put Christian principles into practice by developing a healthy
“body, mind and spirit”

Which of two statements given above is/are correct ?

(1) (@) only (2)  (iD) only

(3) Both (i) and (ii) (4) Neither (i) nor (ii)

"y Hw gfemn sifauIE " % i H fefaiaa w9a & afeu -

() 39 A eEe A 1914 H HE™ | Ffad TR

(i) FHH ' TEe YRR Ak o1 sten’’ w1 fashiaa wieh SO WA o fagial S E § o o)

T & A H T BT FH TE € ?

(1) *ad (i) (2) HaA (i)

(3) (i) 3R (ii) (4) (i) 3R (ii) S & &
[Question ID = 351][Question Description = 230_R0O6_11Dec_Set1_Shift2_Q130]
1. 1 [Option ID = 1401]

2. 2 [Option ID = 1402]
3. 3 [Option ID = 1403]
4. 4 [Option ID = 1404]

Topic:- RO_AGRI_11DEC_SH2_S1



1) When did the Green Revolution start in India ?

(1)  1990’s (2) 1940’s (3) 1980’s (4)  1960’s
R H gRd ohif< sl YE3Td e g3 7
(1)  1990’s (2) 1940’s (3) 1980’s (4) 1960’s

[Question ID = 352][Question Description = 231_R0O6_11Dec_Set1_Shift2_Q131]
1. 1 [Option ID = 1405]
2. 2 [Option ID = 1406]
3. 3 [Option ID = 1407]
4. 4 [Option ID = 1408]

2)
Which of the following companies had started a rural marketing network called
e-choupal ?

(1) ITC (2) Dabur

(3) Proctor and Gamble (4) Reliance

fort 3 & o e & T Wk e Rl (3wt wd &, R
(1) &6 214 (2) TR

(3) HERR iR fraa (4) Ty

[Question ID = 353][Question Description = 232_R06_11Dec_Set1_Shift2_Q132]
1. 1 [Option ID = 1409]
2. 2 [Option ID = 1410]
3. 3 [Option ID = 1411]
4. 4 [Option ID = 1412]

3)
Who among the following has classified Indian Agriculture into sixty micro-regions, thirteen
meso-regions and six macro-regions ?

(1) Jasbir Singh (2) L. Dudley stamp

(3) S. P. Chatterjee (4) P. Sen Gupta

= 1 4 fopge R 19 =i @re Jrgshi e, (micro-regions) q%E Hrsil {5 (meso-regions) iR
®: BRI TS9 (macro-regions) H afichd fera ?

(1) e o (2) T Tl W
(3) TH. =it (4) 1. HAEr

[Question ID = 354][Question Description = 233_R0O6_11Dec_Set1_Shift2_Q133]
1. 1 [Option ID = 1413]
2. 2 [Option ID = 1414]
3. 3 [Option ID = 1415]
4. 4 [Option ID = 1416]



4 Most widely used fungicide for Rust fungi is :

(1) Plant Vax (2) Vita Vax

(3) Bavistin (4) Dithane M-45
T FHad & folu gad SR SR 2 arell WHeATen ¢

(1) = 999 (2) faer =4

(3) afafes (4) feIm wa45

[Question ID = 355][Question Description = 234_R0O6_11Dec_Set1_Shift2_Q134]
1. 1 [Option ID = 1417]
2. 2 [Option ID = 1418]
3. 3 [Option ID = 1419]
4. 4 [Option ID = 1420]

5)
An aquatic fern, which fixes atmospheric Nitrogen in symbiotic association with blue green
alga is :

(1)  Salvinia (2) Marsilea (3) Java Fern (4) Azolla
Y T 3 STell 98 T Sl Aol 82 hdeh o @1 THeieht Sarere § gl ohl SHaferd il @ ?
(1)  FrerEitar (2) HRIGTIr (3) & HH (4) TSIeT

[Question ID = 356][Question Description = 235_R0O6_11Dec_Set1_Shift2_Q135]
1. 1 [Option ID = 1421]
2. 2 [Option ID = 1422]
3. 3 [Option ID = 1423]
4. 4 [Option ID = 1424]

®) Primary resource for agriculture are :

(1) Land, air and water (2) Seed, fertilizer and Pesticide
(3) Seed, air and water (4) Land, Fertilizer and water
(1) 4\, &1 &) 5@ (2) =, @’ 3R FHeTNH

(3) e, T4 3R 5@ (4) 9, @ FR §A

[Question ID = 357][Question Description = 236_R0O6_11Dec_Set1_Shift2_Q136]
1. 1 [Option ID = 1425]
2. 2 [Option ID = 1426]
3. 3 [Option ID = 1427]
4. 4 [Option ID = 1428]

7) Experiments on effect of manures on crop were initiated by :

(1) Sir John Bannet Lawes (2) G.]. Mendel

(3) Van Helmant (4) Justus Von Liebig

frefafad § | free el W e/ 39t & I9E &1 S & T JrT &1 J%sTd &l
(1) TS e dfs (2) . S Hed

(3) 9 geHie (4) =T dF wEfen

[Question ID = 358][Question Description = 237_R0O6_11Dec_Set1_Shift2_Q137]



1. 1 [Option ID = 1429]

2. 2 [Option ID = 1430]

3. 3 [Option ID = 1431]

4. 4 [Option ID = 1432]

8) Kharif, Rabi and Zaid words belong to ?
(1) Urdu (2) French (3) Persian (4) Arabic
G, T IR WEE vg gefd § ?
1) = 2) W (3) RIRE (4)

[Question ID = 359][Question Description = 238_R06_11Dec_Set1_Shift2_Q138]
1. 1 [Option ID = 1433]
2. 2 [Option ID = 1434]
3. 3 [Option ID = 1435]
4. 4 [Option ID = 1436]

9)

Instrument used for measuring wind velocity is known as :

(1) Hydrometer (2) Pyranometer (3) Altimeter (4) Anemometer
Bl & AT &1 HIY A U I FEd B

(1) BESHRY (2) A (3) TEHR (4) WHMHHRT

[Question ID = 360][Question Description = 239_R0O6_11Dec_Set1_Shift2_Q139]
1. 1 [Option ID = 1437]
2. 2 [Option ID = 1438]
3. 3 [Option ID = 1439]
4. 4 [Option ID = 1440]

10)
Directorate of Onion and Garlic Research (DOGR) is situated at :

(1) Shimla (2) Nasik (3) New Delhi (4) Lucknow
I SR eE WY e (DOGR) #@l sTafed € 2

(1) femen (2) fEs (3) % oot (4) @IS

[Question ID = 361][Question Description = 240_R0O6_11Dec_Set1_Shift2_Q140]
1. 1 [Option ID = 1441]
2. 2 [Option ID = 1442]
3. 3 [Option ID = 1443]
4. 4 [Option ID = 1444]

) Mosquito repellent coils/ mats contain :

(1) Paraquat (2) Diquat
(3) 2,4-D (4) Derivatives of Allethrin
TE3Y Y 9Tl Farge /e H BT |

(1) W 2) fe¥e
3) 2,4-D (4) UfagE 9 =gcafed

[Question ID = 362][Question Description = 241_R0O6_11Dec_Set1_Shift2_Q141]
1. 1 [Option ID = 1445]
2. 2 [Option ID = 1446]
3. 3 [Option ID = 1447]
4. 4 [Option ID = 1448]



12)
If a pest is found occuring in an area regularly, it is called :

(1) Chronic (2) Endemic (3) Epidemic (4) Sporadic
FRFEWFH ST S e d iR Rsa=d W e AW F=a e :
(1) Feemfas (2) TR (3) HemH (4) HerEH

[Question ID = 363][Question Description = 242_R0O6_11Dec_Set1_Shift2_Q142]
1. 1 [Option ID = 1449]
2. 2 [Option ID = 1450]
3. 3 [Option ID = 1451]
4. 4 [Option ID = 1452]

13)
National Biodiversity authority is located at ?

(1) Chennai (2) New Delhi (3) Nagpur (4) Gurugram
Tt Sa fafarrar wifteo safim 2

(1) = (2) 7% feeed (3) AT (4) TEI

[Question ID = 364][Question Description = 243_R0O6_11Dec_Set1_Shift2_Q143]
1. 1 [Option ID = 1453]
2. 2 [Option ID = 1454]
3. 3 [Option ID = 1455]
4. 4 [Option ID = 1456]

4 Filter Chamber of Homopterans helps in rapid removal of

(1) Salts (2) Water

(3) Excretory material (4) Nitrogen

LI 1 D99 H& (Filter Chamber) 379 ¥ 1 g F¥4/82 H HEE H3d1 ¢ |
(1) 5% (2) ¥

(3) Scufsfd gend (4) A

[Question ID = 365][Question Description = 244_R0O6_11Dec_Set1_Shift2_Q144]
1. 1 [Option ID = 1457]
2. 2 [Option ID = 1458]
3. 3 [Option ID = 1459]
4. 4 [Option ID = 1460]

Topic:- RO_POP_11DEC_SH2_S1

D In every food chain green plants are always :

(1) decomposers (2) producers
(3) consumers (4) saprobes
& U W e H g ghem 2d §1

(1) 9= (2) IHIEH

(3) IUHrERI (4) HaSiEt

[Question ID = 366][Question Description = 245_R0O6_11Dec_Set1_Shift2_Q145]
1. 1 [Option ID = 1461]



2. 2 [Option ID = 1462]
3. 3 [Option ID = 1463]
4. 4 [Option ID = 1464]

2) In an ecosystem, which of the following occur (s) as abiotic components :

(1) Flow of energy (2) Cycling of minerals

(3) Consumers (4) Both (1) and (2)

yiftfeafas a3 § =1 9 § =9 snifas 2% & w9 ¥ fgoar 8/ foen 2
(1)  Zs1 1 Y18 (2) @Sl 1 bl

(3)  SureET (4) (1) 3R (2) I

[Question ID = 367][Question Description = 246_R0O6_11Dec_Set1_Shift2_Q146]
1. 1 [Option ID = 1465]
2. 2 [Option ID = 1466]
3. 3 [Option ID = 1467]
4. 4 [Option ID = 1468]

3) The last in the food chain are :

(1) Producers (2) Decomposers
(3) DParasites (4) Consumers
arg ga@en § #ifan €

(1) ScHISsh (2) HAYEEH

(3) USiret (4) Ui

[Question ID = 368][Question Description = 247_R0O6_11Dec_Set1_Shift2_Q147]
1. 1 [Option ID = 1469]
2. 2 [Option ID = 1470]
3. 3 [Option ID = 1471]
4. 4 [Option ID = 1472]

4) Key criteria for a hot spot is/are :

(@) Number of endemic species
(b) Degree of threat

(c) Number of exotic species

(1) Only (a) (2)  Only (b)

(3) Both (a) and (b) (4) Both (a) and (c¢)
B T & fo g7 w9 4 AvEE ©

(a) FITIR SiEl S HEAl

(b) &AL =l AU

(c) Tasell Sitdl =Rl e

(1) 9 (a) (2) 9 (b)

(3) (a) 3 (b) (4)  (a) 3 (c) 2

[Question ID = 369][Question Description = 248_R0O6_11Dec_Set1_Shift2_Q148]
1. 1 [Option ID = 1473]
2. 2 [Option ID = 1474]



3. 3 [Option ID = 1475]
4. 4 [Option ID = 1476]

) Dachigam National Park, Jammu and Kashmir is known as home for :

(1) Hangul (2) Indian Bison
(3) Black Buck (4) Vultures

S 31X FEHIR 1 AT 7S e, fRe FE T

(1) T (2) MRGE SR
(3) kTt Tz (4) Tmr

[Question ID = 370][Question Description = 249_R0O6_11Dec_Set1_Shift2_Q149]
1. 1 [Option ID = 1477]
2. 2 [Option ID = 1478]
3. 3 [Option ID = 1479]
4. 4 [Option ID = 1480]

¢) Which of the following is most urbanized State of India ?

(1) Maharashtra (2) Mizoram
(3) Goa (4) Tamil Nadu
=1 H 9 FF IR H Te el edied I § 2

(1) ¥eWe (2) THarRH

(3) T (4) dierTg

[Question ID = 371][Question Description = 250_R0O6_11Dec_Set1_Shift2_Q150]
1. 1 [Option ID = 1481]
2. 2 [Option ID = 1482]
3. 3 [Option ID = 1483]
4. 4 [Option ID = 1484]

7)
The Quadrilateral connecting Delhi, Mumbai, Chennai, and Kolkata passes through :
(1) Amritsar - Ahmadabad - Pune - Patna
(2) Jaipur - Porbandar - Hyderabad - Varanasi
(3) Vadodara - Pune - Vishakhapatnam - Varanasi
(4) Nagpur - Bhopal - Surat - Amritsar
fooell, grers, ==1¢ oIk okl i Sied arel =g Fal H Toal € 7
(1) STYIH - FEUSEE - IO - Y1
(2) S - GREE - RS - ST
(3) TSR - YUl - TaeraTgT=H - SRITH
(4) FIRTYE - HIYTA - G - HAGTH
[Question ID = 372][Question Description = 251_R0O6_11Dec_Set1_Shift2_Q151]
1. 1 [Option ID = 1485]
2. 2 [Option ID = 1486]

3. 3 [Option ID = 1487]
4. 4 [Option ID = 1488]



8) The standard of living in a country is represented by its :

(1) Poverty Ratio (2) Per Capita Income
(3) National Income (4) Unemployment Rate
forelt oft <o 1 Sfre R Frefafed qe & gein s g

(1) RISl (2) ufd =afs e

(3) UL &3 (4) SIS &Y

[Question ID = 373][Question Description = 252_R06_11Dec_Set1_Shift2_Q152]
1. 1 [Option ID = 1489]
2. 2 [Option ID = 1490]
3. 3 [Option ID = 1491]
4. 4 [Option ID = 1492]

%) Which State has the highest Tribal population ?

(1) Rajasthan (2) Gujarat

(3) Maharashtra (4) Madhya Pradesh
fore T 1 S SEE w6 st € 2

(1) TS (2) T

(3) RN (4) =T YW

[Question ID = 374][Question Description = 253_R06_11Dec_Set1_Shift2_Q153]
1. 1 [Option ID = 1493]
2. 2 [Option ID = 1494]
3. 3 [Option ID = 1495]
4. 4 [Option ID = 1496]

10 Which one of the following states has the lowest sex ratio ?

(1) Haryana (2)  Arunachal Pradesh
(3) Uttar Pradesh (4) Punjab

o Y e ST Al T § T © 2

(1) =i (2) STEUTEA Ye¥l

(3) W YW (4) U=

[Question ID = 375][Question Description = 254_R0O6_11Dec_Set1_Shift2_Q154]
1. 1 [Option ID = 1497]
2. 2 [Option ID = 1498]
3. 3 [Option ID = 1499]
4. 4 [Option ID = 1500]

11)



Which one of the following states/UTs of the country has more than 50% tribal population
of the total population ?

(1)
(2) Dadra and Nagar Haveli
(3) Himachal Pradesh

(4) Puducherry

frafafaa # 9, ¥rRa & fora T/ F=wfaa 99 &1 50% § iy Saden sufeanfEt & 8 2
(1) sfeard it fFRER gv 99g

(2) TR SR AR geel

(3) fewm=e wew

(4) TgR

[Question ID = 376][Question Description = 255_R0O6_11Dec_Set1_Shift2_Q155]
1. 1 [Option ID = 1501]
2. 2 [Option ID = 1502]
3. 3 [Option ID = 1503]
4. 4 [Option ID = 1504]

Andaman and Nicobar Islands

12)
Which one of the following years is known as the “Year of the Great Divide” with regard to
population, after which there has been a continuous and rapid growth in India’s
population ?

(1) 1911 ) 1921 (3) 1941 (4) 1951

SgEn & Hey d, e 4 @ forg ad & ‘g oifw € U fearde’ a1 71 forgeh ae urd &+t SadEn
H fim wd @fa fawm gen g7

(1) 1911 2) 1921 (3) 1941 (4) 1951

[Question ID = 377][Question Description = 256_R06_11Dec_Set1_Shift2_Q156]
1. 1 [Option ID = 1505]

2. 2 [Option ID = 1506]
3. 3 [Option ID = 1507]
4. 4 [Option ID = 1508]

13)
In India the female participation in farming activities in rural area is :

(1) Low (2) Zero (3) Fairly High (4) Fairly low
YR & U &6 % wfa FE § foml o wried 2
(1) H @) I (3) TgwdAl afuss  (4) TREAdl FH

[Question ID = 378][Question Description = 257_R0O6_11Dec_Set1_Shift2_Q157]
1. 1 [Option ID = 1509]
2. 2 [Option ID = 1510]
3. 3 [Option ID = 1511]
4. 4 [Option ID = 1512]

14)



The study of population is called:

(1) Paleontology (2) Geography (3) Sociology (4) Demography
TG 1 ST FEdl § ?
(1) Siaedfosm () HAeERE (3) A (4) SHHifETER!

[Question ID = 379][Question Description = 258_R0O6_11Dec_Set1_Shift2_Q158]
1. 1 [Option ID = 1513]
2. 2 [Option ID = 1514]
3. 3 [Option ID = 1515]
4. 4 [Option ID = 1516]

Topic:- RO_GEOG_11DEC_SH2_51

1)

Which of the following rivers is known as the Tsangpo in Tibet and Jamuna in Bangladesh ?
(1) Yamuna (2) Ganga (3) Brahmaputra (4) Indus

e # A forg w1t o fossa # it @i sivemeer § STgAT hed 72

(1) =g (2) W (3) ST (4) fHy

[Question ID = 380][Question Description = 259_R0O6_11Dec_Set1_Shift2_Q159]
1. 1 [Option ID = 1517]
2. 2 [Option ID = 1518]
3. 3 [Option ID = 1519]
4. 4 [Option ID = 1520]

2) Indonesia’s main export in terms of value is :

(1) Oil and gas (2) Tin (3) Rubber (4) Tea
g & &Y § Femfvrn 1 g e B
(1) o R T7 @) fe= (3) @S 4) =™

[Question ID = 381][Question Description = 260_R0O6_11Dec_Set1_Shift2_Q160]
1. 1 [Option ID = 1521]
2. 2 [Option ID = 1522]
3. 3 [Option ID = 1523]
4. 4 [Option ID = 1524]

3) The driest location on earth is in which country ?

(1) Kenya (2) Chile (3) Congo (4) Libya
Jea] TR Had Yk e R qm A ¥ 2
(1) = 2) e (3) RN (4) fafen

[Question ID = 382][Question Description = 261_R0O6_11Dec_Set1_Shift2_Q161]
1. 1 [Option ID = 1525]
2. 2 [Option ID = 1526]
3. 3 [Option ID = 1527]
4. 4 [Option ID = 1528]

4)



Which of the following countries is the largest in terms of area ?

(1) Russia (2) India (3) China (4) Australia
Sl o fedre | 390 A ®F <9 Tl 991 8 ?
1) ®9 (2) WA (3) =M (4) errefern

[Question ID = 383][Question Description = 262_R06_11Dec_Set1_Shift2_Q162]
1. 1 [Option ID = 1529]
2. 2 [Option ID = 1530]
3. 3 [Option ID = 1531]
4. 4 [Option ID = 1532]

5 Panna is famous for :

(1) Petroleum (2) Diamond (3) Coal (4) Gold
1 forer o Ao ©
(1) Uiferam 2) BN (3) hIFeEl (4) 9F

[Question ID = 384][Question Description = 263_R06_11Dec_Set1_Shift2_Q163]
1. 1 [Option ID = 1533]
2. 2 [Option ID = 1534]
3. 3 [Option ID = 1535]
4. 4 [Option ID = 1536]

6) Which of the following states has the maximum net sown area in India ?
(1) Manipur (2) Odisha
(3) Punjab (4) Arunachal Pradesh
A & R T § B o g s T a9 ged sifus 22

(1) HforgR (2) i
(3) U (4) STEITEE He¥

[Question ID = 385][Question Description = 264_R0O6_11Dec_Set1_Shift2_Q164]
1. 1 [Option ID = 1537]
2. 2 [Option ID = 1538]
3. 3 [Option ID = 1539]
4. 4 [Option ID = 1540]

73Frees of forests shed their leaves for about six to eight weeks in dry summers ?
(1) Tropical deciduous forests (2) Mangrove forests
(3) Tropical Rain forests (4) Montane forests
< & yoF T § 5 ¥ oS TR ¥ for v R ¥
(1) IwEkfeHEE o a4 (2) = oEafd o
(3) IwhfesLT aui a1 (4) UEdF &1

[Question ID = 386][Question Description = 265_R0O6_11Dec_Set1_Shift2_Q165]
1. 1 [Option ID = 1541]
2. 2 [Option ID = 1542]
3. 3 [Option ID = 1543]
4. 4 [Option ID = 1544]



8) is the highest peak in the Himalayan ranges, in India ?

(1) Dhaulagiri (2) Nanga Parbat
(3) Kanchenjunga (4) Kamet

9Rd & ferrer gaen 9 T I = R

(1) e (2) W YEq

(3) == S (4) S

[Question ID = 387][Question Description = 266_R06_11Dec_Set1_Shift2_Q166]
1. 1 [Option ID = 1545]
2. 2 [Option ID = 1546]
3. 3 [Option ID = 1547]
4. 4 [Option ID = 1548]

%) largest salt water lake in India ?
(1) Pangong Tso Lake (2) Tsokar Lake
(3) Lunar Lake (4) Chilika Lake
e i T T A e ¥

(1) Heim = e (2) e i
(3) TR A (4) fafeen gia

[Question ID = 388][Question Description = 267_R0O6_11Dec_Set1_Shift2_Q167]
1. 1 [Option ID = 1549]
2. 2 [Option ID = 1550]
3. 3 [Option ID = 1551]
4. 4 [Option ID = 1552]

10)
Which of the following factors does not control the climate of any place ?

(1) Pressure and wind system (2) Distance from the Sea

(3) Availability of water (4) Ocean Currents and relief features
=1 8 @ % | ek frdlt off sere ot Sterarg 1 frfa i % 82

(1) TamE 3R agHsa (2) wgRaEl

(3) U T SYTE (4) HEEFRIT STAYRT SR T o) fardroant

[Question ID = 389][Question Description = 268_R06_11Dec_Set1_Shift2_Q168]
1. 1 [Option ID = 1553]
2. 2 [Option ID = 1554]
3. 3 [Option ID = 1555]
4. 4 [Option ID = 1556]

1) The sorrow of Bihar is :

(1) Kosi (2) Yamuna (3) Brahmaputra (4) Ganga
[EREEIRI AR
(1) = () (3) S () T

[Question ID = 390][Question Description = 269_R06_11Dec_Set1_Shift2_Q169]
1. 1 [Option ID = 1557]
2. 2 [Option ID = 1558]



3. 3 [Option ID = 1559]
4. 4 [Option ID = 1560]

12) Indus river rises in Tibet, in which of the following districts it enters India?

(1) Ramban (2) Shopian (3) Ladakh (4) Reasi
fidy 73} firsam 9 3% At B, iR 9% 9 & forg oot & womt &heeft 82
(1) THA (2) it (3) wwEE (4) Tt

[Question ID = 391][Question Description = 270_R06_11Dec_Set1_Shift2_Q170]
1. 1 [Option ID = 1561]
2. 2 [Option ID = 1562]
3. 3 [Option ID = 1563]
4. 4 [Option ID = 1564]

13)

The Indian Standard Time line passes through which city ?

(1) Awurangabad (2) Lucknow (3) Prayagraj (4) Hyderabad
IR T T 1 fohg 9t | Tt 2 2

(1) simErE Q) @S (3) VARSI (4) TEUaR

[Question ID = 392][Question Description = 271_R0O6_11Dec_Set1_Shift2_Q171]
1. 1 [Option ID = 1565]
2. 2 [Option ID = 1566]
3. 3 [Option ID = 1567]
4. 4 [Option ID = 1568]

14)

Deccan Plateau is a triangular landmass. Which of the following ranges is in its north ?
(1) Mahadev (2) Kaimur Hills (3) Satpura (4) Maikal

TFRT %1 USR U FHhIoig T ¥ | A € 3 59! s fesn d 82

(1) WeRd 2) FR TwRE (3) TAge (4) W

[Question ID = 393][Question Description = 272_R0O6_11Dec_Set1_Shift2_Q172]
1. 1 [Option ID = 1569]
2. 2 [Option ID = 1570]
3. 3 [Option ID = 1571]
4. 4 [Option ID = 1572]

Topic:- RO_CA_11DEC_SH2_S1

1)
Recently, the launch of National Digital Health Mission (NDHM) has been announced. Which
nodal agency will implement NDHM ?

(1) National Health Agency (2) Central Drug Laboratory
(3) National Centre for Disease Control  (4) Rural Health Training Centre

7 & § g fefsed e favm, (NDHM) % 9Re 8 &t =990 g8 €1 $F 9 &7 Usidt
NDHM i sEif-ad & ?

(1) T ey s (2) = sufy wEEETen
(3) U | e (4)  TITHIOT TR iR g



[Question ID = 394][Question Description = 273_R06_11Dec_Set1_Shift2_Q173]

1. 1 [Option ID = 1573]

2. 2 [Option ID = 1574]

3. 3 [Option ID = 1575]

4. 4 [Option ID = 1576]

2)
In order to provide quality education to students across Universities and Higher Education
Institutes (HEIs), which ministry has launched the SAMARTH and e-Governance platform
under National Mission of Education in Information and Communication Technology
Scheme :

(1) Ministry of Tribal Affairs

(2) Ministry of Science and Technology Ministry

(3) Ministry of Education

(4) Ministryof External Affairs

farvafemmermi 3R 3= e Hearl | S0 1 e e ver A & fou g werem 3 g=m 2ir
YR qehHrnt § foren T e % 3faid SAMARTH 3R $-Teig &1 &g fean &1
(1)  sTfearE A %1 Hae
(2) faam IR grifet dera
(3) Toan dmer
(4) foew Humem™

[Question ID = 395][Question Description = 274_RO6_11Dec_Set1_Shift2_Q174]

1. 1 [Option ID = 1577]

2. 2 [Option ID = 1578]

3. 3 [Option ID = 1579]
4. 4 [Option ID = 1580]

3

Y)Ai’hich State Government has planned three mega educational complexes exclusively for
tribal students, where students from Class I to XII will be able to enhance their academic and
sporting skills ?

(1) Gujarat (2) Madhya Pradesh

(3) Odisha (4) Uttar Pradesh

e T TXRR A el 19 X1 T & hael sAifeardt faenferi =i wer-faars sik ea-%g & v
1w & fag I agd o e 9fer sHM it deHr o9 E 8 2
(1) e (2) =S YW
(3) eirEmm (4) IW YR
1FQ:J?;£it<i)or:‘ III; ==13;Z16]][Question Description = 275_R06_11Dec_Set1_Shift2_Q175]
2. 2 [Option ID = 1582]

3. 3 [Option ID = 1583]
4. 4 [Option ID = 1584]

4)



Which Indian State recently launched Mukhyamantri Krishak Durghatna Kalyan Yojana
(MKDKY) to provide financial assistance to family members of farmers who die or are
handicapped while working in the field :

(1) Uttar Pradesh (2) Andhra Pradesh
(3) Madhya Pradesh (4) Rajasthan
forg R w5 F e & H g e g shedn disl an] it § e siaia wdl § %
I F SR G4 A1 3191Est B9 9t fRari & afEr =i snféfes geran wem fmen < 99 -
(1) 3R 9= (2) 7Y T
(3) W I (4) TSTEIH
[Question ID = 397][Question Description = 276_R0O6_11Dec_Set1_Shift2_Q176]
1. 1 [Option ID = 1585]
2. 2 [Option ID = 1586]
3. 3 [Option ID = 1587]
4. 4 [Option ID = 1588]
5)
In which State is the India’s longest river ropeway project connecting the northern and
southern banks of river Brahmaputra located ?

(1) Assam (2) Mizoram
(3) Meghalaya (4) Andhra Pradesh

SRTYS 61 o 3L AR a0l foRRl 1 Sire areft Hed del A9 3 qRESHI, TR % f7a g 1 feom
g2

(1) 379H (2) TosiH

(3) HETTH (4) Y Yo

[Question ID = 398][Question Description = 277_R06_11Dec_Set1_Shift2_Q177]
1. 1 [Option ID = 1589]
2. 2 [Option ID = 1590]
3. 3 [Option ID = 1591]
4. 4 [Option ID = 1592]
6)
Which of the following States recently became the first state in the country that has launched

“First Information Report (FIR) Apke Dwar Yojana” to enable people to file FIRs from their
home instead of visiting Police Stations ?

(1) Delhi (2) Gujarat

(3) Madhya Pradesh (4) Tamil Nadu

Th. 6. AR TS U4 H Hedfad UeH w3 o+ fau ' uh o e/, gk gR A’ e agd
ferd TIME S & IS S99 5 H & U, 3778, 371, €Sl iaM i g g | 39 e H 9 qHd &
Y gl T 1A § 2

(1) feeei (2) TSEE
(3) WA WeW (4) dfHETg

[Question ID = 399][Question Description = 278_R06_11Dec_Set1_Shift2_Q178]
1. 1 [Option ID = 1593]



2. 2 [Option ID = 1594]
3. 3 [Option ID = 1595]
4. 4 [Option ID = 1596]

7)

Name the organization that has announced the launch of “Decarbonising Transport in India”
Project in collaboration with International Transport Forum to develop a pathway towards
a low carbon transport system for India :

(1) NITI Ayog
(2) Indian Road Congress
(3) Automotive Research Association of India
(4) Central Road Research Institute
IY AT 1 AW 9qrd, fg fof SeIEe ZiHURE BRE & 919 e &8 FEE ae gade fawen
faerfaa 2 o fou ** SiEESTE ZEUR g1 sfea’’ sl &iE i i = i ¢ :
(1) ifa smEm
(2) YRAE AR H3
(3) YRG™ TE=ferd dEd Wy |
(4) FHET TSF I TIH
[Question ID = 400][Question Description = 279_R0O6_11Dec_Set1_Shift2_Q179]
1. 1 [Option ID = 1597]
2. 2 [Option ID = 1598]

3. 3 [Option ID = 1599]
4. 4 [Option ID = 1600]

8) Name the submarine commissioned by Indian Navy in November 2021.

(1) INS Visakhapatnam (2) INS Vela

(3) INS Karanj (4) INS Khaderi

Faer 2021 H R A8 g0 Fge w8 W gAgst %1 M 2
(1)  INS feremamg==q (2) INS el

(3) INS &S (4) INS @l

[Question ID = 401][Question Description = 280_R06_11Dec_Set1_Shift2_Q180]
1. 1 [Option ID = 1601]
2. 2 [Option ID = 1602]
3. 3 [Option ID = 1603]
4. 4 [Option ID = 1604]

9) India has given assurance to reconstruct 56 schools in which country ?

(1) Bhutan (2) Myanmar (3) Sri Lanka (4) Nepal
Ra o T 39 1 56 faenedi & qAfmi o srvaree fom 72
(1) Y2H (2) MR (3) St (4) U

[Question ID = 402][Question Description = 281_R0O6_11Dec_Set1_Shift2_Q181]
1. 1 [Option ID = 1605]
2. 2 [Option ID = 1606]
3. 3 [Option ID = 1607]
4. 4 [Option ID = 1608]



10 Ashraf Ghani was the former President of which country ?

(1) Iran (2) Afghanistan (3) Bangladesh (4) Egypt
STYRE ST TohH <1 o1 g ezl 9 2
1) M (2) STRITEE (3) TRy (4) o=

[Question ID = 403][Question Description = 282_R06_11Dec_Set1_Shift2_Q182]
1. 1 [Option ID = 1609]
2. 2 [Option ID = 1610]
3. 3 [Option ID = 1611]
4. 4 [Option ID = 1612]

11)
In June 2020 who was appointed as the Head of Search and Assistant of Google ?
(1) Sundar Pichai (2) Nivedita Sharma
(3) Ben Gomes (4) Prabhakar Raghavan
S 2020 H @t T SN % SHER T H HH i sifaEe (Y vd were) @ yqE fRE e
Teram e e ?

(1) IR (2) frafear smi
(3) o TEH (4) HHERT T

[Question ID = 404][Question Description = 283_R0O6_11Dec_Set1_Shift2_Q183]

1. 1 [Option ID = 1613]

2. 2 [Option ID = 1614]

3. 3 [Option ID = 1615]

4. 4 [Option ID = 1616]

2) Who was the first Chief of Defence Staff of Indian Armed Forces ?

(1) General Arunkumar Shridhar Vaidya
(2) General Bipin Rawat

(3) General Om Prakash Malhotra

(4) General Krishnaswamy Sundarji

A o T di & YUH 67 THE B 9 ?
(1) SRA STEUEFAR MR o

(2) S fafe Ted

(3) ST ATH Y1 HeRrAl

(4) SRS FOTEHE! GaTE

[Question ID = 405][Question Description = 284_R06_11Dec_Set1_Shift2_Q184]

1. 1 [Option ID = 1617]

2. 2 [Option ID = 1618]

3. 3 [Option ID = 1619]
4. 4 [Option ID = 1620]

13)



Which country signed a loan agreement of 200 million Euros with India to boost India’s
COVID - 19 response ?

(1) Germany (2) France

(3) United Kingdom (4) Spain

Hifae- 19 T T o1 GEA1 H & T wrd 7 Torg <9 % @ 200 fufem= 7930 % 20 %1 gHgian
feran 2

(1) S (2) wiH
(3) gAEeE fehen (4) EH

[Question ID = 406][Question Description = 285_R06_11Dec_Set1_Shift2_Q185]
1. 1 [Option ID = 1621]
2. 2 [Option ID = 1622]
3. 3 [Option ID = 1623]
4. 4 [Option ID = 1624]

14)
Rohtang Tunnel Connecting Manali, Himachal Pradesh with Leh, Ladakh and Jammu and
Kashmir, has been renamed as :

(1) Veer Tunnel (2) Atal Tunnel
(3) Shakti Tunnel (4) National Tunnel

feurea e | HAel 9 ofe, TERE a9 sy SR FI9HR Rl Sied arelt Jedi G o T A ©

(1) =RFm (2) @@ HW
(3) iR gL (4) T g
[Question ID = 407][Question Description = 286_R0O6_11Dec_Set1_Shift2_Q186]
1. 1 [Option ID = 1625]
2. 2 [Option ID = 1626]

3. 3 [Option ID = 1627]
4. 4 [Option ID = 1628]

Topic:- RO_UP_11DEC_SH2_S1

D Which one is most important cash crop of Uttar Pradesh ?

(1) Potato (2) Sugarcane (3) Wheat (4) Pulse
I YR I TG Tl AR HAA hH o €
(1) S (2) T () (4) &

[Question ID = 408][Question Description = 287_R0O6_11Dec_Set1_Shift2_Q187]
1. 1 [Option ID = 1629]
2. 2 [Option ID = 1630]
3. 3 [Option ID = 1631]
4. 4 [Option ID = 1632]

2)



Pt Deen Dayal Upadhyay Pashu Arogya Shivir Scheme of Uttar Pradesh aims to :
)  Fund for protection of indigenous bovine species
(2) Provide insurance cover to animals
) Increase milk production
(4) Provide completely free medical treatment for milch animals suffering from infertility
IW YRY 99 A WA vy TR fafer den o 3stww €
(1) TSI TG 98] Sfd ol GeaT & fora o=
(2) 9N % foau sfmn gem
(3) S ST el
(4) SEUA S @ U sl o fadi yofa: gua fafeen Sw=m uem &
[Question ID = 409][Question Description = 288_R0O6_11Dec_Set1_Shift2_Q188]
1. 1 [Option ID = 1633]
2. 2 [Option ID = 1634]

3. 3 [Option ID = 1635]
4. 4 [Option ID = 1636]

3)
Which one of the following projects is launched to provide sufficient water to Mathura and
Agra ?

(1) Gokul Barrage Project (2) Jamrani Dam Project

(3) Ganga Barrage Project (4) Eastern Ganga Canal Project

Y AR A 1 g4 S Y FH * fore Frefafad § § 0 & ofe@s =sag @2
(1) Tpet SRt gfeEism (2) ST St i

(3) M S U (4) gl v T i

[Question ID = 410][Question Description = 289_R06_11Dec_Set1_Shift2_Q189]
1. 1 [Option ID = 1637]
2. 2 [Option ID = 1638]
3. 3 [Option ID = 1639]
4. 4 [Option ID = 1640]

4} Which one is a Kharif crop ?

(1) Wheat (2) Paddy (3) Barley (4) Pea
frefafes § 9 wi™ woa w6 9@t 82
(1 (2) um (3) i (4) =X

[Question ID = 411][Question Description = 290_R06_11Dec_Set1_Shift2_Q190]
1. 1 [Option ID = 1641]
2. 2 [Option ID = 1642]
3. 3 [Option ID = 1643]
4. 4 [Option ID = 1644]

5)



Which of the following places is known for Imdad Khani Gharana of Sitar and Surbahar
music ?

(1) Agra (2) Lucknow (3) Etawah (4) Varanasi
frefafad § ¥ &M W = f5ar 3k GEEsr & =18 @A S’ & fofe S S § 2
(1) S 2) TETH (3) ZemE (4) SROTH

[Question ID = 412][Question Description = 291_R0O6_11Dec_Set1_Shift2_Q191]
1. 1 [Option ID = 1645]
2. 2 [Option ID = 1646]
3. 3 [Option ID = 1647]
4. 4 [Option ID = 1648]

6) In Uttar Pradesh the cement factories are situated in :

(1) Mansoorpur and Nawabganj (2) Noida and Sahibabad
(3) Churk and Dalla (4) Bareilly and Rampur
ST g H e S wel fem 872
(1) HYTR AR TamErs (2) Fwer AR wifEeiErE
(3) T AN gl (4) S R TR

[Question ID = 413][Question Description = 292_R06_11Dec_Set1_Shift2_Q192]

1. 1 [Option ID = 1649]

2. 2 [Option ID = 1650]

3. 3 [Option ID = 1651]
4. 4 [Option ID = 1652]

7)  Which one of the following is a major Industry in Uttar Pradesh ?

(1) Leather Industry (2) Handloom Industry

(3) Foundry Industry (4) Agricultural Equipment Industry
frefafad 9 9§ 3T 4S9 &1 9= 380 R 7 ?

(1) = 3G (2) BIRTE IGAT

(3) e wEm CEEGECE U

[Question ID = 414][Question Description = 293_R06_11Dec_Set1_Shift2_Q193]
1. 1 [Option ID = 1653]
2. 2 [Option ID = 1654]
3. 3 [Option ID = 1655]
4. 4 [Option ID = 1656]

8)

The famous Musician Swami Haridas was contemporary of which Mughal ruler ?

(1) Akbar (2) Babar (3) Shahjahan (4) Aurangzeb
g HiaeRr @l 3RE™ fFe ga e & gHEe o ?

(1) A+ (2) HTs (3) VmESTRl (4) ST

[Question ID = 415][Question Description = 294_R06_11Dec_Set1_Shift2_Q194]
1. 1 [Option ID = 1657]
2. 2 [Option ID = 1658]
3. 3 [Option ID = 1659]
4. 4 [Option ID = 1660]



9 is situated on the Hilltop Bangira.

(1)  Aligarh Qila (2) Rani Jhansi Ka Quila

(3) Deograh Fort (4) Ramnagar Fort
i dad foraw w e 21

(1) =g fohe (2) T T R e

(3) TR H (4) THTR ®R

[Question ID = 416][Question Description = 295_R06_11Dec_Set1_Shift2_Q195]
1. 1 [Option ID = 1661]
2. 2 [Option ID = 1662]
3. 3 [Option ID = 1663]
4. 4 [Option ID = 1664]

10)
Diamond is extracted from which District of Uttar Pradesh ?
(1) Banda (2) Lalitpur (3) Jalaun (4) Hamirpur

I Y o foha ot o € v fassedw () fomen <man &2
(1) =iE 2) wfeag (3) M (4) THRE

[Question ID = 417][Question Description = 296_R06_11Dec_Set1_Shift2_Q196]
1. 1 [Option ID = 1665]
2. 2 [Option ID = 1666]
3. 3 [Option ID = 1667]
4. 4 [Option ID = 1668]

) How does the election of President and Vice President of “Zila Panchayat” occur ?

(1) By Confidential Voting (2) Nomination by Governor

(3) By Public (4) Nomination by District Magistrate
et demEd & e7eAs SR SUEEE 1 A HY B 2

(1) T Ha<H 5/ (2) TEFUE GRI AT

(3) ST EN (4) TSenfasil gr1 A=

[Question ID = 418][Question Description = 297_R0O6_11Dec_Set1_Shift2_Q197]
1. 1 [Option ID = 1669]
2. 2 [Option ID = 1670]
3. 3 [Option ID = 1671]
4. 4 [Option ID = 1672]

12) Who was the first Chief Minister of Uttar Pradesh ?

(1) Smt. Sucheta Kriplani (2) Sh. Chandra Bhanu
(3) Sh. Govind Ballabh Pant (4) Dr. Sampurnanand
W YL F qEa A= i 92

(1)  gEfa gear Foer (2) & ==

(3) it Tiiferg seay 9 (4) L HYUHG

[Question ID = 419][Question Description = 298_R0O6_11Dec_Set1_Shift2_Q198]
1. 1 [Option ID = 1673]
2. 2 [Option ID = 1674]



3. 3 [Option ID = 1675]
4. 4 [Option ID = 1676]

13) The Festival of Holi in Barsana (Mathura) Uttar Pradesh is famous for :

(1) Colour Gulal Holi (2) Charimar Holi
(3) Lathmar Holi (4) Dandia Holi
I YR I SHA 1 Bl FErewa R faw ufas €2

(1) e 1 & Erel (2) TSR Fref

(3) 3R Ereft (4) ifear St

[Question ID = 420][Question Description = 299_R06_11Dec_Set1_Shift2_Q199]
1. 1 [Option ID = 1677]
2. 2 [Option ID = 1678]
3. 3 [Option ID = 1679]
4. 4 [Option ID = 1680]

14)
According to the Census of 2011 which one of the following Districts of Uttar Pradesh has
the highest density of population ?

(1) Ghaziabad (2) Lucknow

(3) Sant Ravidas Nagar (4) Varanasi

2011 % STIAT & AR Frefafead § 9 Sw aew & foa foer 1 sden s7@ gl aifaesd §2
(1) s (2) wETS

3) u faem TR (4) SRTOTEH

[Question ID = 421][Question Description = 300_R0O6_11Dec_Set1_Shift2_Q200]
1. 1 [Option ID = 1681]
2. 2 [Option ID = 1682]
3. 3 [Option ID = 1683]
4. 4 [Option ID = 1684]






